—

Linear Equation in one vap
ariable gy .
1l two var
iable

dact Sy ;
Past Yeq, Questions

g St
YO M/
a) [f 2™ = 22,\'-y ='\/-8- then . / 1O
’ the respectiy,
of xand yare __ PR
a. 1
1= b. 1
2 5
; 1
3 5'% d. None of these
PYQ May 18
B 2 o WY o
g — =l L4
X+y x- x+y x-y 3
then (x, y) is:
L b (1,2)
¢ (-12) d. (-2,1)
; PYQ Novw. 19
3 2x+5 3x+10
+ =5, find x
10 15 i
a. 10.58 b. 9.58
C. 9:5 d.  None of these
PYQ Nov. 19"
4 ;
¥ Find value of x* —10x+1 if x = !
5-2J6
a. 25 b. 1
c 0 d. 49
Note: Que to be shifted to Quadratic Equation Topic
PYQ July 21

(5)  The cost of 2 oranges and 3 apples is % 28. If the
¥ cost of an apple is doubled then the cost of 3
oranges and 5.applesds 2 75. The original cost of
7 oranges and 4 apples (in (3)) is:
a. 59 b. 47
G 71 d. 63
PYQ Dec. 21
6)  In amultiple choice question paper consisting of
¥ 100 questions of 1 mark each, a candidate gets
60% marks. If the candidate attempted all
questions and there was a penalty of 0.25 marks

for wrong answers is:
a. 32 b. 36

¢ 40 d. 38

Mca Compiler CA Foundation Maths,
\

)

p ,
o b 3 2 L

Xty x-y x4y x;y-' f

by

a. (1/2) b- ('11 ‘2)

F‘ (1/ 1/2) d. (2/ 1)
‘H'

A plumber can be paid cither 600 and 250 per
hour or 2 170 per hour, If the job takes ‘n’ hour,
for what value of 'n’ the second method earns

better wages for the plu
4. 5 ,
&) 4 L
y PYQ Dec22
The solution lowing system of linear
equations =0and2x +y—8=0will
be:
a. S (% - b. (1,-3)
c. \gb,2) d (2,2 .
Answer Key 2
1 4 2 b 3 b
Y c 5 a 6 a
7 d 8 a 9" e

Linear Equation in one variable and two variable

(60

()
g

LR and Stats [N Ll a5 03

Mock Test Paper Questions
MTP May 18

57 5 6 7 8
y 11 13 15 17

In the above table corresponding values of two
variable x and y have been given. Which of the
following equations establishes the relationship
between the two variables?

a. y=3x+2 b. y=2x1

cs Y =2xt] d. y=3x+1

If 2x -3y =1 and 5x +2y = 50, then what is the
value of (x-2y)?

a. =7 b. 6

RN d. 10
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Waord Problems on Lagua

xtytz

Past Year Question

The value of 'k “for system of equations kx+2y =
5 and 3x+y = 1 has no solution is;
a5 b 2/3
¢ 6 d. 32

shortened by 3 units,
: v respectively and a rig
& the side of an ¢
(5)  The cab bill is partly fixed and partly var/es on ; d 7
s the distance covered, For 456 km the bill is ¥
8252, for 484 km the bill is Rs. 8728, What will

the bill be for 500km? 2 Adimb

: v
% (g:;g Z :3(1)'()){6) digil W one’s place in thrice the digit in ten
N s MTP Oct 21 place. If 36 be added then the digits are revey

\ Find the number

(6)  The point of intersection between the lines 3x+ “~\ ‘ ‘
dy =7 and 4x <y = 3 lie in the i 62 b. 26 :
a. 1" quadrant. b. 2 quadrant, o f N _J° d. _None of thest

3 quadrant d. 4" quadrant, ] . . n
d MTP Oc (3) If a person has cloth of total 91 em. If he div
; it into 3 parts then longest part is twice the
shortest one and another part is 3 em more t

shortest one. What is the shortest one?
a, 25 b. 44
c. 22 d 46

| 1+—-1+—
If 144 T then x is

a, il
(oA 3

I MTP June 22
®) If 2 = 2"V = \f8 then the respective values of (4)  If the cost of 3 bags and 4 pens , ?257 ‘
xand y are )

y the cost of 4 bags and 3 pens is ¥ 324, then th

a 1% ; b. %1 fof one
(o %, ; cost of one bag is:
A‘ (19 Db 3.5 .8 b
L ec 22 Series 11

©®  2+5 L3x+10 c. 32 d. 75
0 i 5 =5, then the value of x R

I 4 1058 b. 958 (5)  The largest side of a triangle is 3 times fhe]g
| ¢ 95 40 None of thse shortest side and third side is 4 cm sho
Bicdi2025 o largest side. If the perimeter of the triangh

S?lva Jor x; yan z, — least 59 cm, what is the length of shortest
.Y _210_. . Less than 7 cm ]
, ? 140, L =140 b. Greater than or equal to 7 em
a 105’210 420 b. 1 00205400 . Less than 9 cm '

95,215,395 s e d. Greater than or equal to 9 em? :

CA ,(.7,‘“'””5/ PD,(’(?? ’/ .

Scanned with CamScanner



@

@

@)

@

The age of a man is four times the sum of the

ages of his two sons and after 10 years, his age
will be double the sum of their ages. The present
age of the man must be
a. 56 years

c 60 years

b. 45 years
d. 64 years

3@
6 ¢

1 —-‘217
4 d 5 d

Waord Problems on Equations

Mock Test Paper Questions

MTP May 18
A number consists of two digits. The digits in

tens place is 3 times the digit in the unit’s

place. If 54 is subtracted from the digits are
reversed. The number is

a. 39 b. 92
(e 93 d 94
MTP Nov 18

A number consist of three di git of which the
middle one is zero and the sum of other digits is
9. The number formed by imterchanging the first
and third digits is more than the original
number by 297 find the number?

a. 306 b.
c, 603

309
d.. 307
b3
&7 MIPNov18
The age of a person is twice the'sum of the ages
of his two sons and.five years ago his age was

thrice the sum of their ages. Find his present
age.

a. 60 years b. 52 years
& 5T years d. 50 years
MTP May 19

Ten years ago the age of a father was four times
his son. Ten years hence the age of the father will
be twice that of his son. The present age of the
father and the son are

a. (50, 20) b. (60, 20)
G (55, 25) d. none of
these

' MCQ Compiler ca Foundation Maths, LR and Stats
l!\k
[

e

®)

@)

(8

©)]

(10)

—_—

e ——

5 chairs and 3 tables cost 0f ¥ 350. and 3
Chairs and 5 tables cost # 370, What is the
cost of the table and two chairs?

a. Z130 b. ¥120
c. = 2150 . d. 2140
- i W ~ MTPNov1

If thrice of A’s age 6 years ago be subtracted
from twice his present age, the result would
be equal to his present age. Find A’s Age

a. 9 b. 8

@ 10 S

QML 1 y ¥
The sum of two nu is.62 and their

product is 96,{;)%5 sum of their reciprocals is
a. _ 73135 b2
( E 40
PR . d 41
MTP May 20, ICAI SM

Three persons Mr. Roy, Mr. Paul and Mr.

Singh together have ¥ 51. Mr. Paul has % 4

less than Mr. Roy and Mr. Sin gh has got T5
less than Mr. Roy. They have the money as.
a. (320,216,315)
b (¥15,%20,316)
¢! (325,%11,%15)
d none of these

MTP May 20, ICAI SM
The wages of 8 men and 6 boys amount to ¥
33. If 4 men earn X 4.50 more than 5 boys
determine the wages of each man and boy
a.  (¥1.50,%3)
b. (¥3,%1.50)
¢ (R2.50.%2)
d  (%2,%250)

MTP Now 20
The cost of 5 mangoes is equal to the cost of 20
oranges. If the total cost 2 mangoes and 10
oranges is T 22.50, find the cost of two
oranges.
a. < 1.25 b.
(& 33

<2.50
d. ¥3.50

Scanned with CamScanner
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71848 b. 840
21680 d. ¥3360 a.
W&mdﬁnguriﬂlthedataofque,corred
er is ¥543.52

The sum of the tyyg Numbers jg ¢
On the average an experienced person does 7 of their squares s 34 Taking o
unitsafworkwhileaﬁeshoneworksunitsof ﬁomanequationinx 1if,
work daily but the employer has to maintain numbers. The Numbers dfy
an output of atleast 35 ynits of work per day. a. (7, 10)
The situation can be expressed as: C.
a. 7x+5y<35 :
b. 7x+5y <35 (19) The vall® ,
' e 7x +5y>35 ' y
d. 7x+5y >35

) 5 veadided to hog), the fraction b,
Note: Shiita%L? ING,
e Nhe 7k ind the fraction, :

(13)  Xand Y have their pres;f ages in the ratio

>

12 b. 13
> 6714 years 480, the ratio of the ages of the 7 o
two was 4:5. What will be the ratio of their 1 d  Nond
ages 21 years from now? 3 thesl
- 7:11 b. * ATP Jun 23
cl 8:11 d. 20)  Ifdifference between a numbper and its pos
- MTP Dec 22~ Square root is 12; the numbers are
14 A man wants to cut three lengths'fron a. 9 b. 16
* piece of board of length 91 cm, The Seeom c. 25 d. Noneof
length is to be 3 cm long, the'shortest these
and third length is to be as the shortest. AnswerKey 7
What is the possible length for'the shortest 1 ¢ 2 g 34
piece? 4 a 5 a 6 a
a. b 20 7 a 8 a 9 b
c 413 10 b 1 b 12 d
" MTP Jun 23 - Serigs 1 13 b 14 q 15 .8
(15) If thrice of A’s age 6 years Aago be sybtracted 16 d 17 d 18 ¢
from twice his present age, the result woyl4 be 19 g 20 b
equal to his present age. Find A’s present age,
a. 7 b. 8
e 9 d 6
. MT] Jun 23 — Serios

(6)  The cost prices of 3 p and 4

bags is ¥ 324,
and 4 pens and 3 bags is ¥ 257, then cost price
of 1 pen is equal to

g Z16 b. Z18
. & Z50 d 275

~ . , T ————EP
f 24/ / MCQ Compiler CA Foundatlonﬁ

Scanned with CamScanner




b z”+2x 3=0
-3 ¥ +2x+3=0
d. X' =2x+3=0

a, B are the roots of the equation
2 ‘a2

X’ +x+5=0 then %+3— is equal to
a

a. 16 b. 2

e 3 d.:% 14

5

PYQ Now. 18
()  Let aand B be the roots of X* +7x+12=0.

aZ ﬁZ
Then the value of (F +—] will be:
a

o 712 b. 49 144 N
i 7 144" 49 o
G 81 d. Nom’ofllil!se N
12 '
T «w ié
4

When two roots of quadraué’eql'gztmm are a,—
a

then what will be the quadrati&g;zmtmn.

a
b
.
d.
L S PYQ June 19
()  Find the condition that one roots is double the
other of ax’ +bx+c=0

a. 2b* =3ac b.  b*=3ac
G 2b* =9ac d. | 21’ >9ac.
— PYQ Nov. 19

(6)  Find the value of K in 3x" ~2kx +5=0if

x=2
a 1714 b -7/14
¢ 417 d. -4/17

(1), If the quadratic equation X* +px +q =0 and
: X' +qx+p=0 have a common root then

p+q=?
a. 0 L
c -1 d, 2

(12)  The harmonic mean of the roots of the equation

* (5+~/—)x —(4+\/_)x+8+2x/_ =0 is
a. 2 b. 4
o] 6 d 8

(13)  If aand B are the roots of the e_quation

* 2 +5x+k =0,and 4o’ + B +ap) =23,
then which of the following is true?
a. kK +3k-2=0

b. kK -2k+3=0
(2% K -2k-3=0
d

k* -3k +2=0

(14)  The sum of square of any real positive quantity
¥ and its reciprocal is never less than;

a1 b 2

6B d 4
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equation (k=4)x" = 2kx +(k+5,
equal?
@ 18
s 19

Y pYQ Jun 23
20) Ifaand p are roafSofiihe quadratic equation

 x'=2x-30 thert\the equation whose roots
are a+pand a—p is:

4 18 a. 20

(9 1£) ; ¢, 21

i SN PYQ Jun 23
- If a and Bare roots of the equation

~
P~

Problems on Quadratic I'guati

Mock Test Paper Ouc-tions

e equatio N P+4) x + 2P + 5= )
roots. @ f pis
a. b. 2

(¢} 2 d 8

1)

=

T

(2)\Let v and f be the roots of equation

x* +7x+12=0, then the value of ‘é :

will be
a. 49 144
an— + P
144 49
b. 7. 12
—— + o
12 7 .
. :9_1- Ilu
12

d. None of these
Note: Repeat PYQ Nov 18

:
A
Y/

(3)  When two roots of quadratic equations a 7

and L then what will be quadratic equation

a4
. ax’ =(a’ +Dx+a=0 .
b. ax’ —a’x+1=0
. ax? (& +1)x+1=0

d. None of these
Note: Repeat PYQ Nov 18 -
MTP N e
@) Ifaand p be the roots of the equation
2x? —4x~3=0 the value of o "‘.ﬁ’}‘
g B b 7
¢ 3 d. -4
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b. x*+4x+1

d. None of these Note: Repeat Que 11 MTPl /

(15)

The roots of the quadratic equatzon x%— 4x o If urithmetic mean bett

= 0 are coincident if
a. k=4 b. k=3
¢, k=2 d k=1
(8)  The roots of the equatzon X+ ( 2p—1 )x + pz = o =
are real if.
a. p=21 b. p<4
c p21/4 d. p<k . are do ble that of the equation
Note: Type in MTP e x"+10x+12=0. What is the value of m + n?
I e A 104 b 208
(9)  The roots of the quadratzc equation % €. 1 10228 _.d. 202
9x* +3kx+4=0 are equal if N\ N R A M 0v 2]
i k=42 %“%fz ©(17)  If @and Bare the roots of the equation x* +7x
b, k=43 X +12 = 0, then the equation whose roots
c. k=24 b (a+ B and (a - B) will be
_d k=15 a. X’ -14x+49=0
IR b X’ -24x+144=0
(10)  If one root of a equation is 5, then the & X’ —50x+49=0
d

quadratic equation is

X —19x+49=0 .
a. X +4x—gd= e

2
EE, A ety Quadratic Equationi-'-—l——— ==
£ X il g
d O ' a.  land-2/3 b. -1and2/3
MTP March 21 . -land-2/3 d. 1and2/3
(1)  If one root of the equatzon 23 3x +k 0is 2, Note: Ans wrong i in MTP Correct Ans is Option a
then the value of k will be O
a. -10 b. 0 (19) The roots of equation 97 —6.3" +1=0are
G ) 410 - B2

- MTP March 21 ¢ 2 d. 0

(12)  If arithmetic mean between roots of a quadmtzc
% equation is 8 and the geometric mean between

 them is 5, the equation is
B —16x-25=0 b. X -16x+25=0

f-!-u@ X +16x+25=0 d. Noneofthese

Mc Foundation Maths, LR and Std CA. Pranav Popat

Scanned with CamScanner



G0

b r-2xs144=0
¢ A -50x+49=0
d X -19x+144 =0

- - Q17 MTP Now 21
M»fmﬁ 2 Q

(23)  Roots of the equation 2x” + 3x + 7 = Oare o and

4

P then the value of afp ' + pa ' is \ P~ 7
5 2 b 3/7 ; 10
C 7/2 d -19/14 Y 13
16

I[ the ratio of the roots of the equ 19
4x’ -6x+p-0 i51: 2 then o p is: 22
a, 25
C -2 28

Note: MTP Ans is wron Com'cl Option is b
MTP June 22

25)  If roots of eqffMlion ¥ + x + = ¢ are a and f and
&+ =& Findthe value of v’

a, -5/3 b. 7/3
C -4/3 a0 a1

o i MTP Dec 22 - Series |
Ifone root is 527413, 4 Y15 0 be reciprocal of
the other, then the vaty, of yis

a 1 ¥
' £ w1 a.
5 5 (e}
) 8 4 -5

a
(4

cof,

1714
417

Y -4x+

xw

I/ther

i mmgl:/mtmulnr

Then fnd the Quadrff
a,
C.

- 4)x" — 2kx +(k +5) m{

the value of K?
a 4 b. 20
2 d 22
Answer Key ‘
c 25 3 a
b 5 a 6 a
a 8 d g9
b 1T "¢ 12 b
¢ 14 ¢ 15 b
b 17 ¢ 18 b
a 20 a 21 a4
c 23 d 24 aq
a 26 ¢ 277
a 29 a 30 b

:::::

d ¥ +4x4;

Problems on Cubic Equations

Past Year Questions

1,28
2,3,-9

@) The value of 'k’ is

Jollowing cubic equation: x° —(k+1)x+k =

a
4 (o8

CA. Pranay Popat

2
1

Roots of the equation x* + 95 - x -9 =0,

/ MCQ Comp//er CA Founa’atlon Maths, LRc ,

PYQ!

b. 1,-1,-9
d 138 9

et U2 18 therootofthc

b. 6

d 4
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Problems on Cubic Equations

Mock Test Paper Questions

if a,p, yare the roots of equation
* —4x* +x+6=0 then the equation having
il

1
roots are —,—,— 18
apy
a. L —4x* +x+6=0 O
b, 4x’—6x" +x-1=0
. 66X +x —4x+1=0 ,

1)

d. 6x° —x* +4x—1=0 ‘
Note: Out of syllabus — you can leave this. 4
L MIPMay19
@) Ifx=5" +5713  then5x° —15x is given by N N T

a. 25 b. 26

ez d. 30 Q
(3) (x+4)isa factor of x* 4’ - ax EL

% Also, a+b=29. Find the value.of

a. 7
(& 22
MTP Dec 22 Series I1

(4)  Roots of the equation® 9% -x-9=0

. L2 1,-1,-9

(& 2,3&9 4 1,39
e er Key
e 2 b ¢

4 b

' Mca Compiler CA Foundation



Outside of OAB
ABCE
A ABE

6x+1y>18,x @ 12)2x+y>10

( | On solvingthejinequalities; we get
following solution: a0 @ 0,0),(4,2), & (7,6)
- (0,0),(20,0), (10, 50) & (0, 60) Z , 000, 3), (4,2), & (7,6)
(0,0), (60, 0), (10, 50) & (0, 60) c. ,0),(0,10), (4,2), & (7,6)

(0, 0), (20, 0), (0, 100) & (10, 50) d N0, 18),(12,0), (4 2), (0, 0), & (7, 6)
None of these : '

e SR

o

]

10

(@) An employer recruits experienced (x) and fresh
workmen (y) for his under the condition that he
cannot employ more than 11 people. x and y can . {5 : 7}
related by the inequality. #

)
a. x+y#11 vg : b. {3,4,5,6}
b. x+y<11,x20,y>0 { '
¢ x+y211Lx>0,y>0 ' ¢ 1456}
d.

Slveor x of the inequalities
Y 3x-2

2< <4 where x <N

None of these » - 61 None of thfse S—

g

@) The solution set of the equatior ®)  The common region in the graph of the
inequalities x+y <4,x-y<4,x>2 is

2x—6>0is
a.  (=2,») . (3,0) * :
o (~o0 @ o () ; Equilateral triangle

Isosceles triangle
Quadrilateral
7 7 qua

& 0 S8

9)  XYZ Company has a policy for its recruitment
as: it should not recruit more than eight men (3
¥ to three women ( ). How can this factbe
expressed in inequality?

a. 3y >8x b, 3ysx/8
@ 8y = 3x d. 8y<3x
) Compiler CA Foundation Maths, LR and Stats CA. Pranav Popat /Ag
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X 4%, S22+, 2 4%, 20,2, 20
USRS T x X, S4,%,20,%, 20
(5 Wt e 2t x, >di >0,x, 20
s okex, >d;x >0,x, >0

(11) If2x+5>3x+2and2x -3 <4x -5, the 'x’
can take which of the following value?
S+ a4 b. -4

@ 2 an -2

(12) In a garment factory, an average experienced
tailor can stich 5 shirts while a fresh tailor can
stitch 3 shirts daily, but the employer has to

maintain an output of at least 30 shirts stitched

per day. This can be formulated as-

a. 5x+3y <30

b. 5x+3y>30

C 5x+3y=30,x=20,y 207,

d. 5x+3yS30,x20,13;}::()“%9 @

(13) A fertilizer company produces fwo types of

fertilizers called gtade I and grade I1. Each of

these types is ?g{gcé‘éggg hrou gh a critical

chemical plant un',.?@he plant has maximum of

180 hours dgg'[abl 2 in a week. Manufacturing
= . :

one bag of grade I fertilizer requires 4 hours in

the plant. Manufacturing one bag of grade II

fertilizer requires 10 hours in the plant. Express

this using linear inequalities.

a. 2t 526, = 160,

b 4x,+10x,>180

C 2x, +5x, >180

d 4x, +10x, <180

_@

QJun23

Linear Inequalities

Mock Test Paper Questions

sinthefvﬂnafline‘ar‘ L
1o i

x+y<100,4x+y<100,x>0,y=0
+y<1000,2x +5y <100,x 20,y >0
x+y>100,4x+y2100,x20,y20

none of these

() The Solution of the in equality

X Sx+6<12x+141s
a. (-2,2) b. (0,-2)
(-2, )

(7 ) d.

(3)  The rules and representations demand that
employed should employ not more than 8
experienced leads to 1 fresh one and then fact
can be expressed as ;
a.  y=x/8
c. 8y=x d y=8

@)  On the average experienced person does 6 units
work while A person 2 units of work daily but
employer has to maintain as output of at least 24
units of per day. This situation can be expressed

as
a.  6x+2y<24 b. 6x+2y=24
c.  6xt2y>24 d. 6xt2y#4

0 24l| Mca compiler CA Foundation Maths, LR and Stats
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Note: Repeat

@ ¢ of the inequalities

g includes origin
i includes the point (4,3)

processing in two . )
Which one is correct?

first machine can be used at most :
a. Only (i)

(12) The solu
10

A second machine can be used at )
hours. The product A requires 2 N b. Only (ii)
‘machine one and one hour on machine\ ‘ % (e} Both (i) and (ii)
he product B requires one hour on Y d. None o these
and two hours on machine wo‘ e m el
Eapress above situation using linety a3 The solution of the inequality (ol
3

qualities
. 2x+y<60 and x+y= is
2x+y260 and x a. x=8 b. x<8

" ey <60 and x+ 0 R x=8 d.  None of these
% ‘ > l?.' bl g = 1

Cd x+y260.and x+y<40 I e— "
X e (14)  On the average, experienced person does
i T of work while a fresh one 3 units work daily
the employer have to maintain the output of at
b (3) least 30 units of work per day. The situation ca
y (_00 _2) be expressed as.
; a. 5x+3y <30 b, 5x+3y=30

e 5x+3y=30 d. None of these

e inequalities 2 + 5
| Y <20, 3x + 15) '
S S :Z;uhon <space of the inequalities 2x +y <
OGYRSED:
( 1) Includes the origin
(ii). Includes the point (4,3)
Which one is correct?

10

}; (0,4), (g, 0) and (20/11, 36/17)
),(éob)é) and (20/11,36/11)

NEZL 4 ; and (2/ 3)
10,0),(0,6) and (2, 3) a. Only(i) b Only (i)
c. Both (i) and (ii) 4. Non}: of v”';"f

/ CA Pranay Popat
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Pl 12 en ﬁ'l‘ayer have to maintain the output at
: Jeast 30 units of work per day. The situation can
be expressed as '
.  b5x+3ys<30 b, 5x+3y230
e 5x+3y=30 d.  None of these

nly Z 5760 to invest in fans (x)

(18 A dealer has 0
chines (y). The cost per unit of

and sewing ma
fan and sewing machine is 360 and < 240

respectively. This can be shown by:

a. 360x + 240y > 5760
b. 360x + 240y <5760
. 360x + 240y = 5760

none of these
L NS y ‘_1.‘_}7,2,? gegT ”’1"';";5..

inequalities 5X + Y = 100, was
following situg_tio;?s; 7‘

(19) On solving the
60, x 20,y 20, we get the
(0.0), (200), (10,50, & (060 {7
b (00),(600), (1050, & (60
. (00),(200), (0100 &.(10:50)

d. none of these

a.

Note: Repeat o .
et AL March 22
0) The rules and regilations demand that the
employer should er;‘iylﬁf?zbt more than d
| and this fact is

&

experience hands;gtc%‘l fresh one
king experienced person 45 X

represented B :
and fresh perso’ as y)

a. X
yzg

[ 5y 2%

a,  AABC
¢. ABCE
Note: Repeat

1 by the inequality.
a. +y #11
b. x+y£11,x20,y20
C. x+y211,x20,y20

L (23) px+y=18x+4y
the inequalities; we get:
(0,18), (12, 0), (4, 2)&(7,6)

a.
b (3,0,(03) (4,2 &(7,6)

. (50,010, 4,2)&(7,6)

4 (0,18),(12 0),(4,2),0,08 (7,6

Nov 19

Note: Repeat PYQ

our can be paid under two 1

49 A Lab

below :
(i) Z 600 fixed and Z 50 per hour

(ii) Z 170 per hour

+ hours to complete; -

the method (i)
S
L f"‘:'u

bt

If a labour job work takes ‘T
ud out the value of 7 for which
gives the labour h ‘
q. xX= X= 4
4 =

. x=9

ndation Mm -

% MCOCOnP/lerCAFau e 8
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inequalities 6x +y > 18, x + 4y's
10, we get the following sit
(0,18),(12,0), (4,2) & (7,
(3,0,(0,3),4,2&(
~ (5,0),(0,10), (4, 2)&

0,0) & (7, 6)

6 R S 8 R 8 8 .

e
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est and Compound Interest

Past Year Questions

interest rate of 5% and (7)  Aman deposited

the inf ‘ be added to the principal every 10 5% per annum compoun i
% years, then the number of years in which it will he will get s *
amount to 2,000 is: a. 8800 B, 9261
L b. 1 C. 9,200
1 163 years 62 years
c. 16 years d. If in two years” time

amounts to T 121
PYQ May 18 R
will be

2
6 B years erest at the rate of

nuglly, then the value of r

@)  Aperson borrows ¥ 5,000 for 2 years at 4% per
annual simple interest. He immediately leads to

10%
1 d. 14%
another person at 62 % per annum for 2 years : ]

\ V' & '.;;E«-‘—, g ) Not
tain sum of money Q was deposited for 5

find his gain in the transaction for year: ©)
12,50 b, ¥225 ‘% years and 4 months at 4.5% simple interest and
¢ 2125 d 3 107.50 %%%amounted to ¥ 248, then the value of Q is
23 PYQ M B 3200 b. %210
o i\‘,‘fb‘l’!;y
3) Ifanamount is kept at S I it earns an mterest oﬂ& / c ?220 " d. . 3240
e i i 0 T ; “ur:

600 in first two years but when kept at <,
compound interest it earns an interest of L 660%
for the same period, then the rate of mteregz and-
principal amount respectively are:’ :
0. 20%,%1200 b zg‘%

10) If compound interest on a sum for 2 years at 4%
per annum is T 102, then the simple interest on
the same sum for the same period at the same
rate will be

c__10% 21,200 d’fﬁ 10%, 1,500 A o b. %101
@ If? 10, 000 is znvested at 8% peryear , PYQ Ne

If the difference between the compound interest
compounded annually and simple interest on a
certain amount at 10% per annum for two

L #117165 9/ b 10716.59 years zs;; ;722(3 Othen the pr;nczp;ls z;rrgz)lgzt is
¢ 1171659 d.  None of these . : '

m " PYQ Nov. 18 . < 37,500 d. None_gfth e

) @
() Abank pays 10% rate of interest compounded Repeat Jan 21 - -PYQ]
annually. A sum of 400 s deposited in the (12)  The effective rate of interest for one year depos:t

bank. The amount at the end if 1 year will be corresponding to a nominal 7% rate of interest
. ' 7 440 b 7439 per annum convertible quarterly is

7% b 7.5%
A T442 4,
S 441 ¢ 74% 4 7.18%

compounded quarteﬂy, 4.‘]1en the value of the (11)
investment aﬁenz jg;lrs is:

(Given (1 -I-‘,Q 02)' £1:171659)

—
1CQ Compiler CA Foundation Maths, LR and Stats / /
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L #8000
e <14,000

(23) The difference in siyp VA.
invested of T 140
1‘ difference i

a. 0. ’

C. o 0 Nt

(24) Find the effective rate of interest on ¥ 1(
which interest is payable half yearly at 50)"‘ .
a. 5.06% b. 4%
d. 3%

b. ¥3,500
d. Naneo these

(25) Find the eﬂectzve mte of interest at 10% pa.
when interest is payable quarterly '
a. 10.38% b. 5%
R 04% d. 4%

Em  was invested for 3 years as per C I
ate of interest far first year is 9%, 21 ye

a %250 b.

i i &
Y the sum if the amount in three ye v.-' 1S
’ _ ' '
¢ T462.16

(26) Whut wzll be the populutzon after 3 years whe
present population is ¥ 25,000 and populah
increases at the rate of 3% in 1 year, at 4% i in.

18) PTR

? 00 —
TR 4 % e 100 2 year and 5% in 3" year?
then I will be a. Z28,119 b. ¥29,118
a Z3, b. ¥3,300 c. 3 27,000 d 30,000

d. None 4 these e B
June 19 (27) The value of scooter is ¥ 10, 000 ﬁnd -

9)  The effective rate of interest does not depend after 7 years if rate of depreciation is 10% p.a.
“porn a. 3478296 b. ¥4,278.69
a.  Amount of Principal c. 4 2,079 d. © 42 000
b Amount of Interest Rk 1 ~ PYQNo
¢ Number of Conversion Periods 28) SI=0.125P at 10% p.a. Find time.
d.___ Noneof these a.  1.25years b. 25 years
o) 0.25 years d.  None of these

IfP 7* =% 96, and R = 8% compounded

annually then P =
a  <14,000 b. 15,000
c 16,000 d. ¥17,000

- ;
, DXLl MCQ Compiler CA Foundation Maths, LR and?
/ :
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*  annually) is 21
a. 01777
(31)  On what sum will the compound interest at 5% c. 01666
per annum for 2 years compounded annually be
¥ 3,280.

a.  <32,000 b. 16,000 to T 840 at 4%:-._. '
c. 48,000 d.  %64,000 ple, find the sum-
b. 550

(32) An amount P becomes < 5,100.5 and ¥ 5,203
after second and fourth years respectively at 1%
of interest per annum compounded annually.

d. 500

Thus value of P and R are: amount,of T 50,000 is deposited in a bank for
a. ¥4000and1.5 b. 5,000and 1 one year at the rate of 8% per annum
C 26,000 and 2 d. ¥5500and 3 compounded semiannually
' PYQ Nov. 20 a. 3,080 b. 4,080
(33) A certain sum invested at 4% per annum % c. 5456 d. 7,856

compounded semi-annually amounts to ¥ N\ TE T??“_'ﬂ‘

1,20,000 at the end of one year. Find the suin: \ (40)  The population of a fown i increase by 2% of the
a.  1,15340 b. 1,10,;?0‘%.;;}}4}‘Q population at the beginning of the year. The

c 1,12,812 1,138 X number of year by which the total increases in

d

O"Nov. 20 population would be 40% is:

(34) Find the compound in terestﬂfh ' ‘aunt of T a. 7 years

50,000 is deposited in bank fq@ne year at the b. 10 years

rate of 8% per annum compou‘fded semi- . 17 years

annually. N, d. 19 years (approx.)

a. 33,080, \{'“b 24,080 T L W

G 5, 6 d 27,856 (41)  Two equal amounts of money an deposited in

N\ PYQ Nov. 20 two banks each at 15% p.a. fix 3.5 year in the

(85) Anamount is lent at a nominal rate of 4.5% per % bankand fix 5 years in the either. The difference

annum compounded quarterly. What would be between the interest amount from the bank in
% the gain in rupees over when compounded 144. Find the sum

annually? a. 620 b. 2640

a 056 b. 045 ¢ 820 d._ 7840

¢ 0076 d. 085 = +1

(42) The szmple interest on sum at 4% p.a. for 2
years is T 80. Find the CI on the same sum for

the same period.
a.  Z81.60 b. %80.80
¢ 1383720 d %8230

—_—
‘NCM CA Foundation Maths, LR and Stats 43 !
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d. 718%

d one-third of his capital at 7%
at 8% and the remainder at 10%. If
income is % 561. The capital is -

b. %5500

d. <5800

(46) A sum of money is lent at C.I. rate 20% p.a. 2
years. It would fetch ¥ 482 more if the interest
is compounded half yearly. The sum is:

a. < 19,800 b. 19,900 N
¢ 220,000 d. 20,100

What ‘I’ denote the actual rate of interes W %
decimal, and n denote the number, nuersi
periods, the formula for computi
rate of interest E is given b
a  (1+i) b.

C. 1-(1+0)" d.

1+i)" -1
+i)’"

- PYQ July 21
(48)  The effectiypmate dffetirn Sfor 24% per annum
converﬁb@ s given as:
a  24% b. 26.82%
18% d.  24.24%

uly 21
49) What is the compound interest (in ) on a sum

0f 12,600 for 1— Years at 20% per annum if
the interest is oompounded half yearly?

(Nearest to a rupee)

a 4271 b. 4171

€ 4711 d. 4117
}

—

CA. Pranav Popat /—\

at szmple mterest at r% .
amounts to 16,510 at (r +2)
interest in the same times
r? ¥
a.  10% \ s
e 12% £ ) Vi 6%

(52) What is % e (in ?) between f
Tite glCompound interest on

for 2 years at the rate of 10% ,{{

when the mterest is compounded yearly?
a. 136.12 b. 12950

C. 151.75 d. 147.20
» - A
L (53) A sum of ¥ x amounts to ¥ 27,900 in 3 years

and to T 41,850 in 6 years at a certain rate

percent per annum, when the interest is

compounded yearly. The value of x is:

a. 16,080 b. 18,600

C. 18,060 d. 16,800

(54)  Rahul invested ¥ 70, OOO ina bank at the rate g
6.5% p.a. simple interest rate. He received &
85,925 after the end of term. Find out the peri
for which sum was invested by Rahul.

a. 2 years b. 3 years
c. 3.5 years d. 25 ears

(55) A company needs 21 0, 000 in five yearsto
replace as equipment. How much (in %) shot la
be invested now at an interest rate of 8% pael
order to provide for this equipment?

a. 6,000 b. 6,805
(o 10,000 d. 11,000
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"57)  An amount is lent at R% simple interest for R
| years and the simple interest amount was one-
#  fourth of the principal amount. Then R

15
e e
c. HHA d. 6"

(58) A sum of money is put at 20% compound
interest rate p.a. at which year the aggregated
#  amount just exceeds the double of the original

v"44~v' J
annum payabl‘e fnﬁﬁ jearl
a. 6.06%
&) 6.08%

8% and 9%spei

&

t dccrued through these fwm
in two years was I4,818.30
al amount invested was ¥ 27,000. What

sum? and
a. 6 [ 5 e.amount invested in schemes ‘A’?
c. 4 d 3 a. < 12,000 b. ¥12,500
. PYQJune22 c.  %13,000 d. ¥13,500
(59) In how much time a sum of amount doubles at N T I
simple interest at 12.5% rate? \ 7@6) A sum of money invested of compound interest

a. 7 years b.  8years

. Jyears —d. 10 years
mm— e e

(60) The effective rate of interest corr egpondmgga
nominal rate of 7% p.a. conver;zble warterly V.

a. 7% bgﬁﬁr?ég%\vn
¢ 5% 4N 18%
| a % PYQ Dec22

(61) A machine worth %4,90,740 is depreciated at
15% on its qpmlngw“alue each year. When
*  would its vg’lue reduce to % 2,00,750?
a. 5 yed’rs 5. months
b 5 years 6 months
@ 5 years 7 months
d. 5 years 8 months

_‘AL

a il N .:";Q Dec 22
(62) If¥ 64 amount to 283.20 in 2 years, what will
286 amount to in 4 years at the same Rate

percent per annum?

a. 3 127.60 b. 2147.60

G T 145.34 d. 2117.60
-

Mca Compiler CA Foundation Maths, LR and Stats

) double itself in four years. In how many years it
% become 32 times of itself at the same rate of
compound interest?
a. 12 years b. 16 years

c. 20 years d. 24 years

(67)  The difference between compound interest and
simple interest on an amount of < 15,000 for 2
years is T 96. What is the rate of interest per

annum?
a. 9% b. 8%

¢ 10% d. 11%

(68) A sum of money doubles itself in 4 years at
certain compound interest rate. In how many
years this sum will become 8 times at the same
compound interest rate?

a. 12 years b.
0, 16 years d.

14 years
18 years
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i
G

n compound interest and

, a certain sum of money

b. <3700
d. 10,000

) A machine depreciates 10% of its value atythe
beginning of the year. The cost and scrap v 52
realized at the time of sale being ¥ 23,2
9,000 respectively. Approxima fo
many years the machine is put

how

the beginning of that
te number of years, by
ease of population will be
(Given1.02° =1.17166 )
i, 17
d. 20

YQ Jun 23
1 for 9
at 16% per annum compounded
erly is:

21,851 b. 1,941

<1951 d. %1961

32
89
38
41

47
50
53
56
59
62
65
68
71
74

ﬁm_hhﬁ@ﬁ@&@&@&ﬁ@ﬁ&h ﬁ7

a
a
a
a
b
b
a
c
b
b
c
a
d
d
c
b
c
b

MCQ Compiler CA Foundation Maths, LR @i
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e ji 12 ‘
__) =1.1036)

b. 9.36%
d. 9.9%

10.36%
11.36%

A machine worth of ¥ 4,90,740 is depreciated
at 15% on its opening value each year. When
its value reduce to % 2,00,000

2

a. 5 years 6 months
b. 5 years 7 months
c.  5years 5 months
d. None of these

A sum of money doubles itself at compound
interest in 10 years. In how many years will it
become eight times

®)

a certain sum is 3
00 for 2 years. What
or 2 years? what is the rate

18%
10%

b.
d.

\ The value of o machine depreciates 12%
" annually. If the present value of % 68,150 then

N\ its value in 3 years ago was.
a. 10 b. 30 e\ Y a.  <1,10,000 b. <1,00,004
d. 35 N\ c. 292,000 4 297,000
ﬂl_m,. MTPM ;~ Con 7
The time in which a sum of money avill be” (10) What prmczpal will amount to ¥ 370 iné6
doubled at 6% compound interést - compounded years at 8% p.a. at simple interest
interest compounded znteresf c“onzpounded a. ¥210 b. %250
annually approximately. C. Z310 d. é‘ 310
a. 10 years b. 12 years _ : BN \
c. 13 years g d. 14 years (11)  The effective rate of interest is an amount
| - \ MTP Nov 18 % 25,000 is deposited in a bank for one year at
6)  Alent 36000 to B for 2 years and 1500 to C value of 6% per annum compounded semi-
for 4 years 'al_zd recetved total interest of ¥ 900 annually is
from both. The rate of interest when simple . 599% b. 5.95%
interest method calculated. c. 6.09% d. 6 90%
a. 5% b. 6% . MT
C. 7.5% d. 9% (12) A Sum of money doubles ztself in 10 years. The
Note: There was a typo in que of MTP which is number of years it would be trebled itselfis:
corrected here. a. 25 years b. 15 years
MTP Nov 18 c.  20years d.  None of these
6 If the dzﬁ‘erence between the interests received

from two different banks on ¥ 5000 for 2 years
is ¥ 50 then the difference between this rates.
a.  025% b. 0.40%

C. 0.50% d. 0.75%

E—

MCQ Compiler CA Foundation Maths, LR and Sta
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annum ts < 110.16.
a 3000
G 12000

b. 00
> ¥ 10000

7 b 7.02% (2)  Simple injenegh 0 < 3500 for 3 years at 12
¢ & d 718% per ann S ‘
Noie: All the options given in MTP were wrong, we a. 00 )
- c. 2260 d. #2000

hwrmsdhusiﬁ

(16)  The population of a town increases every year

1000 is invested at annual rate of inferest g

by 2 % of the population beginning of that 10% p.a. The amount after two years if

year. The number of years by which the total \ compounding is done annuallyis __
increase of population be 40% is N a. %121 b. %1210 ;
a. 7 years b. 10years quge N ° . ¥2110 ~d. Noneofthese

L g '|.'.'" i
(24)  If A person invests T 3,000 in a three years’
investment that pays you 12% per annum.

Calculate the future value of the investment.

s -\.. ‘ ) %'Tﬁ#

the. pop "Ia.t'”";”ﬂl Geido e o 421478 b, 2412478
s T oT e ¢ ¥430448 A 2452648
a. 35 years b. 80 years . &
C. 25 years d. _ noneo hese G e - =

(25) A person deposited a sum of ¥ 10,000 in a
210,000 bank. After 2 years, he withdrew ¥ 4,000 and
of 10% p.aNThe gmount after two years at s at theend of 5 years, he received an mno'unto .
- compu nding is Z7,900; then the rate of simple interest is:

6 221100 b 212100 b L H
e 212110 d.  None of these . 10% _Noneg these

Rt

(19)  The annual birth rate and death rate per 1000 (26) A trust fund has invested ¥ 30,000 in two
are 39.4 and 19.4 respectively. The number of different types of bonds which pays 5% and
years in which population will be doubled s 7% interest respectively. Determine how muc
assuming that there is no immigration or amount is invested in second type of bond if »
emigration is approximately trust obtains an annual total interest of
a 40 Years b. 30 years 1600.

(& 35 Years d. 25 years a. <5000 b. %6000
@ <7000 d. 8000

/M/ MCQ Compiler CA Foundation Maths, LR and$
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4 was given to the son on his 0

T birthday. How much did he receive? ilize
(1.05)" =2.1829 23,240 and % 9,
a. 25740 b. 23740 many years the maci
e 27860 d. 229760 a. 7 years
c. 9 years

Note: All options are incorrect, rig

ht ans is T 28755

(28)  What is the effective rate of interest if the
nominal rate 5 % p.a converted quarterly?
a. 6.09% b. 5.09 %
c. 55%  d 560%

b 2057 . :
d ¥229084

(29) A sum of money doubles tse at compound

The effective rate of interest corresponding toa

become eight times?

20 b. 30 )
c. 40 d 35

a.  32%pa b. 325%pa

interest in 10 years. In how many years will it i
i \k nominal rate 3% p.a payable half yearly is
: c.  3.0225%p.a d. none of these

. (37) A sum of money triples itself in 18 years under
simple interest. what is the rate of interest per

(30)  Certain sum of money borrowed at sznzﬁlé}}w annum? ‘
¢ 9% b, 9.09%
interest amount to Rs.2688 in thﬁze@earséand a. ° . 9.09%
0,
to ¥ 2784 in four years at the, ra‘la per annum c. 1111% d. 13%
€ | %‘ ) i :
qual to. & {'3)’ % _ ; '
o 79% 6% (38)  What time will be required for a sum of money
2 5% d %% to double itself at 8 % Simple interest?
& L rhis vy Y20 a. 8 years b. 8.5 years
fs lont out at szmple 12.5 years d. 12 years

C.

(G A sumof T 46,575

interest and at the end of 1 year 8months the L < : :

total amou. g%‘ 50,000. Find the rate of (39)  The difference between simple interest and

interest percent per annum. compound interest on a sum of % 6,00,000 for

. 5% NGO/ two years is T 6000. What is the annual rate of

(@5 49 d. 8% interest? . ,

g SR ‘ 6 8% 0 B

(32) A=%5200, R=5%p.a., T=06 years, P will ¢ 6% d. 12% =

be

a. Z2,000 b. 3,880

c. ¥ 3,000 d. none of these
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07351
b toole
L oool

@2 Dheefitetive rate of interest for one-yoar ‘
i MM\Q to @ nominal 7 % rate of
nderest per anntm convertible quarterly is
& 7% b 75%

e T4% d 218%

32  What will be the population after three years
when present population is 325,000 and
population tncreases at the rate of 3 % in r&
vear, 4 % in second year and 5 % in thind
war?

v

a 8119 b,
& 27000

SI=0.125 Pat 10% pa fi
a 125 wars b,
0.25 d.

8 years

,000 in two vears at

stmple in e amount that will become ¥
6,875 in 3 years at the same rate of interest is:
a T 4850 b, I5000

(- I5500 d. ¥5275

Note: All options are incorrect, correct is 348

(6)  The difference between the simple and
compound interest on a certain sum for 3 year
at 5% p.a. is T 228.75. The compound interest
on the sum for 2 years at 5% p.a. is:

a 3175 b. ¥3075
[ 3275 d 2975

-

G0

'L

GO

(53)

6,26
A person borrorws € 5,000 4 2 years
P simple interest, He fately I

another person at 6 2 years, Fing

his gain in t aclon per year:
2 :@ b, €126

o a5 ) d. 216750

. @ tof machinery is ¥ 1,25,000/- if its
usefMblife is estimated to be 20 years and the

ruf;* of depreciation of its cost is 10% p.a., th
the scrap value of the Machinery is [iven thaf

(0.9 «0,12158 |
a 15,197 b. 15,400

1

6 15,300 d. 15,250

If .-\rpvrsmr invests 35,000 in a three years”
investment that pays you 12% per annum,
Calculate the future value of the investment,

a. X 7024.04 b. 712478 |
(3 732448 d. 752648 |

~ MT “
Two equal sums were lent out at 7% and 5%
simple interest respectively. The interest 1
carned on the two loans adds up to T 960 for
four years. Find the total sum lent out. |
a. <4000 b. 3000

C. 3 5000 d. ¥6000

A sum of money amounts to Rs. 20,800 in5

years and ¥ 22720 in 7 years. Find the
principle and rate of interest. ,
a. <5000, 6% b. 16000, 6%

. ¥ 80000, 8% d. 10000, 10%

MCQ Compiler CA Foundation Maths, LR and
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5) e effective annual rate of interest
~ corresponding to nominal rate 6% p.a
: . .a. payable
u ﬁ,dfyearly is
R, 6.06
¢ 6.08

b. 6.07
d. 6.09

66 The cost of machinery Rs.1,25,000 if its useful
life estimated to the 20 years and the rate of
depreciation of its cost is 10% p.a . Then scrap
value of machinery is (given that (0.9 =

0.1215)
a. Rs. 15,187 b.  Rs. 15,400
c Rs. 15,300 d. Rs. 15,250

(67) Ifasimple interest on a sum of money at 6%
p.a for 7 years is equal to twice of simple \
interest on another sum for 9 years at 5% pel.__ ‘
b

The ratio will be W
T 2:15 b 7:15 -
C 15:7 d 1779 \

; Py 21
(68)  Inwhat will be a sum of ;Z;é)‘/r'[efy.{dgub,le itself at
6.25% p.a . Simple interest?{ '

a.  5years b. 8 years
¢ 12 years d. 16 years
MTP Apr 21

-
(59)  What willlbe population after 3 years when
present population is 25,000 and population
increase at the rate of 3% in first year , at 4%

in second year and at 5 % in third year ?

e 28,119 b. 29,118

¢ 30,100 d. 27,100
mane 5

1at a principal of

(60)  Asum amount o Rs. 133
ded annually. Find

Rs.1000 at 10% compourt

the time

a.  3.31years b, 4 years
. ¢ 3years d. 2 years

T Tmeapn

» CA Foundation Maths, LR and Stats

23900 cash.
interest p.a. (at sim
instalment plan?
a.  18%

22%

If a sum tzi lft'nISynrjf'
of interés ate’of interest per annur
be:

(63)

b 133%
4 18.0%

What will be population after 3 years when
present population is 25, 000 and population
increases at the rate of 3% in I year, at 4% in
11 year and 5% in III year?
a. Rs.28,119 b. Rs.29,118
c.  Rs.27,000 d. Rs.30,000
- el b
(65)  He effective rate of interest equivalent to the
nominal rate of 7% converted monthly:
a.  7.26% b. 7.22%
C. 7.02% d.7.20%

(66)  How much wil be Rs.25,000 to in 2 years at
compound interest if the rates for the
successive years are at 4% and 5% per year

a.  Rs27,300 b. Rs.27,000
c.  Rs27500 d. Rs.27,900
'J’ .

67) Asumof 7 46,875 was lent out at simple
interest and at the end of 1 year 8 months, the
total amount was ¥ 50,000. Find the rate of
interest per annum. -, i
0 8% bo10%
C. 12% d. Nm : Ly

Given ans in MTP is wrong, correct is 4%

Note:

with CamScanner
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d none of these

oney gets doubled in 5 years at
erest. If the interest was Y%,
‘money would have become ten-fold
py years. What is Y = X (in %)
b 5
d. none of these

The difference between Compound Interest and
Simple Interest on a certain sum for 2 years at

6% p.a. is T 13.50. Find the sum
a. 3750 b. 2750
4750

C.

The sum required to earn a monthl Y interes & J;

(72)

a.  <50,000 b. 60,00

c. 80000

The compound interest ears
lender on < 7,000 for 3 ye

interest for 3 years are 7%, 87
respectively is
a. %175

b. <1800
d. none of these

A Maruti Zen cost % 3,60,000. Its przce
depreciates at the rate of 10% of a year during
the first two years and at the rate of 20% in
third year. Also find the total depreciation.

a.  <1,26,720 b. ¥1,15,620

& 2 1,25,000 d. 21,10, 520

(74)

In what time will be a sum of money doubles
itself at 6.25% p.a simple interest?

a. 5 years
(&) 12 years d.

(75)

b. 8 years
16 years

Rs 1200 at 18% per annum Simple Intgrest szeQ N

77

|

(78)

?‘*@w

)

(80)

(81)

(82)

How much time would the simp
certain sum be 0.125 times the priy
10% per annum
a. 1
1- years
2 yea

1
2—vyears
4 Y

The time in.by 1 Swhlich a sum of m il
jtself ifiit doubles itself in 15y
unded annually.
b. - 43 years [
. d 46 years

Present value of a scooter is 37290, if its valye
. decreases every year by 10% then the valye

before 3 years is equal to

a. 10,000 b. 10,500

e 20,000 d 20, 500 ;

Find the effective rate of interest ut 10% pa
when the interest is payable quarterly.

a. 10.38% b. 5%

e 5.04% d. 4%

The difference between in simple interest mr
sum invested of 1500 for 3 years is T18.
difference in their rate is

a. 0.4 b. 06

c: 0.8 d 0.10

What will be the populatwn after 3 years whett
present population is 25000, if the population
increases at the rate 3 % in I year, 4 % in H

year and 5% in 111 year.
a. 28,119 b. 29,118
& 27,000 d. 30,000

MCQ Compiler CA Foundation Maths, LR an° £/
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14 yea b. 15 years
16 yea d. 143 yea

Find the effective rate of interest if an amount
of 30,000 deposited in a bank. For 1 year at the
rate of 10% per annum compounded semi-
annually.

a 10.05% b.  10.10%

¢ 10.20% d.  10.25%

®6) The present population of a town is 25,000. If

w n"' rafe of mie

*

@  The difference between $

it grows at the rate of 4%, 5%, 8% during 14
year, 2™ year, 3 year respectively. Then find
the population after 3 years.
a. 29,484 b
. 29,4;5.'-' d

29,844
28,944
N

The present value of a scooter is € 7290, The

rate of depreciation is 10%. What was Y

palue 3 years ago?

a 10000 b TG0
¢ l)q\)” d \Im
MTP June 22
wrest for the firs®2 year 15 3%

per annum for mndy years 1s 8% per annum

and for the ;u;n.f*ﬂmid 5 years, 10% per
s £ 1520 as a simple

annum. [/ man
mtberest fore. u.) how much money did he
-

deposat?
a 3800 b, 23800
C & 4000 d. None q" these

:
9 -
imple interest and

E 2 "
m;mmd mibereston d certain for 2 years at

10% pa.is 10 Find the Sum
@ 1010 p. 109

¢ 21000 7990

92)

(93)

3

(94)

?, le interest if the principle is 2000
and g rate and time are roots of the equation
' -11x+30=0 '
a. Z500
c. Z700
Rajesh deposits € 3,000 at the start of each
quarter in his savings account. If the account
earns interest of 5.75% per annum
compounded quarterly, how much money (in
2) will he have at the end of 4 years? [Given
that (1.014375)"* =1.25654]

a.  ¥54308.6 b. ¥58553.6

. 268353.6 d. 2636244

b. 2600
d. %800

Note: Que belong to Annui Topic

(95)

(96)

“The annual rate of simple interest is 12.5%. In

how many years does principal doubles?

a. 11 years b. 9 years
c.  8years d. 7

Certain sum of money borrowed at simple
interest to ¥ 2688 in three years and o 7784
in]ourymrsalthemteperannameqmltv- _
a 4% b. 6% } .IIH_{
¢ 5% d 7% b

Scanned with CamScanner



4 e
b. %564.80
d. 664.80

An investor is saving to pay off an obligaﬁc.m
of % 15,250 which will due in seven years, if
the investor is earning 7.5% simple interest

rate per annum, he must deposit X to
meet the obligation.

a. <8000 b. ¥9000

c. 10000 d. 11000

(99)  The value of the scooter is ¥ 1,00,000 find its
depreciation is 10% p.a. Calculate the total
depreciation value at the end of seven years.
a. %47829.70 b. ¥47000.90
c. 42709 d. 42,000

Note: Que requirement should be to calculate WDV
value and not the depreciation.

(100)
upon
a.  Amount of Principal
b.  Amountof Interest &
c.  Number of conversion‘f@ﬁsw
d.  noneof these \
M ec 22 Series IT
A man invests ¥ 12,000 at 10% p.a. and

another sum of at 20% p.a for one
year. The total i1 nt earns at 14% p.a.
simple inferest théotal investment is:

G K b. 20000
c. 14000 d. 216000

- MTP Dec 22 Series 1T
The difference in simple interest of a sum
invested of ¥ 1,500 for 3 years is ¥ 18. The
difference in their rates is:
a. 04
.8

(101)

(102)

b. 06
d. 010

-

© MIP Dec 22~ Series
Effective rate of interest does not depend g

u

(109)

(105)

_Co N

(106)

V-\

A
\

~

b

(107)

(108)
*

(109)

*

Find the effective rate of
when interest is payable qua
a.  10.38% b.
c. 504%

What will be the popu
when the present
and populationi
1st year, at /@
year?

a. 28,119

7,000

Thewalue of scooter is 2 10,000, Find its
value after 7 years if rate of depreciation is

10% p.a.
T4,782.96 b. ¥4,278.69
c. 342,079

d. 42,000

The difference between the CI and SI for 2
years is 21. If the rate of interest is 5%, the
final principle is:

a. Z8,200 b. ¥4,800
¢ 8,000 4. 28400

Mr. X lent some amount of money at 4%,

and he obtained ¥ 520 less than he lent in5

years. The sum lent is

a. 3620 b. 650

c. Z750 d. none of these
' . MT

¥ 8,829 is invested into three different sector

in such a way that their amounts at 4% p.

S.I after 5 years; 6 and 8 years are €q l.

Find each part of the sum.

a. 3,069, ¥2,970; 2,790
b.  ¥3,089,%2970; 22,790
. ¥3,609, ¥2,970; 22,790
d. 3,069, ¥2,960; 22,760

MCQ Compller CA Foundation Maths, LR
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3

(112)

(113)

(114)

(115)

 annum payable half yearly is: (117) A certain sum of money be

esﬁ@*ﬁ ng to a normal rate of 6% per

o 6.06% b 6.07% 5% rate of S.I. p.a. in a certai
c 6.08% d.  6.09% in years is VL -
a. 10 years 20 years

A trust fund has invested I 27000 money in
two schemes ‘A’ and ‘B’ offering compound
interest at the rate of 8% and 9% per annum
respectively. If the total amount of interest
accrued through these two schemes together
in two years was T 4818.30. What was the
amount invested in schemes ‘A’?

a. % 12,000 b. ¥12,500
213,000

b. 8years
d. None of these

(e

m@i <1,25,000 is borrowed at compound interest

A sum of money invested of compound ~ " at the rate of 2% for the 1+ year, 3% for the
interest double itself in four years. In how Q S second year and 4% for the 3 year. Find the
many years it become 32 times of itself at the . amount to be paid after 3 years
same rate of compound interest. 2 N N a. 3125678 b. Z136587
a. 12 years b. 16 years . e "R 163578 d. ¥136578
20 years ~d. 18'years LR T ¢
S | jes I (1200 A certain sum of money amounts to double in

The dlﬂ'erence between Cafnpound interest 5 years placed at a compound interest. In how

and simple interest on an‘*agmunt of < 15,000 many years will it amount to 16 times at
for 2 years is < 96 What is the rate of interest same rate of interest?

per annum? @, a. 12 years b. 20 years

a. 9% X‘% b. 8% c. 24 years d Nane 0 these
A A,' ) d. 10% ITP Jun 23 S

TP Jun 23 Series 11 (121) If the compound interest on a certain sum of
money for 3 years at 5% p.a. be ¥ 50.44, then

Mr. A mvested Ixinan orgamzatzon it

amounts to < 150 at 5% p.a. S.1. and to T 100 the simple interest (S.I) is
at 3% p.a. S.I. Then the value of x is a. T50 b. <49
a. 270 b. <40 e R I d None of these

G 25 d.  None of these R S ; ¢
(122) If the dzﬂerence bet'ween C I and S I ona
certain sum of money at 5% p.a. for 2 years is
% 1.50. Find the sum of money
a. 2600 b. 500
c 2400 d.  None of these
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k’:f{atgﬁzturevalueofﬂw

. . 215645488
J b 215655488
L ¢ o T144865625
b g 4 Noneof these
d c
‘ e Z ()  How much amoujiki ltObe',”
a b b ulate ¥ 3,00,000
% i b if interest is compoundeg
a a 3
a b “
; ; ; - g18.828.65
b d__ 21888265
; Z . o
67 : 68 a 69 ¢ ﬂ "A man mvests an amountof 215,860 in the
70 a 71 a 728G \ ¥ names of his three sons A, B and C in sucha d
73 ¢ 74 a 75 d ‘-": % way that they get the same mteres't after 2,3
76 b 77 a 78 ¢ il 4 years respectively. If the rate of interest is 5%
79 a 80 a 81 ? ' then the ratio of amount invested in the nameg
82 a 83 a d A, Band Cis:
8 d 86 a ey a. 6:4:3 b. 3:4:6
88 a 89 ¢ c er  30:1255 ~d.  None of these
91 a 92 a Q%b L S
94 a 95 ¢ 9 a (4)  Thevalue of furmture deprec:ates by 10%a
97 b 9 99 a year, it the present value of the furniture in an
100 a OV 102 a office is ¥ 21,870. Calculate the value of
103 a 10 105 a furniture 3 years ago
106 a 107 d 108 b a. < 30,000 b. 35,000
109 a 110 d 111 d e < 40,000 d. ¥50,000 i
112 a g @ 114 ¢ Note: Que to be classxﬁed under CI Cate or |
115 ¢ 116 a 117 b r} o PY
;Z Z gg d 120 b (5)  Let a person invest a fixed sum at the end of each
a

month in an account paying interest 12% per
year compounded monthly. If the future valued
this annuity after the 12 payment is % 55 000
then the amount invested every month is? '
a.  T4,837 b. 4,637
c. %4337 d ¥3337

/ CA. Pranav P dSs
/ LCLLIZ LY | MCQ Compiler CA Foundation Maths, LR and®
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10,730.7
c 8756

b. 5,365.35
d. 9,892.34

(8  Find the present value of ¥ 1,00,000 to be
required after 5 years if the interest rate be 9% .
Given that 1.09° =1.5386
a. 7899598 b.
c.  88992.43

64,994.15
d.  93,902.12

(9 A five year annuity due has periodic cash flow
of < 100 each year. If the interest rate is 8% the
future value of this annuity is given by: &
a. (R100) x (future value at rate 8% for5 @ (13

years) x (0.08) .
b. (% 100) = (future value at rate 8%fq,r.§E ;
years) x (1-.08) N
C. (3 100) x (future value at rate 870 o1, “\‘
years) x (1+0.08) /% K

l

d.  (R100) x (future value kg ﬁ)r 5
V_yeqrs) x (1/0.08) m N
| PYQ Nov. 20

(10) A person decides to invest & 1,25,000 per year 14)
for the next five years jn an annuity which gives

5% per amzwonipounded annually. What is

the approx ﬁlture ayﬂ@le?

(use 1.05° = 276*2 if needed)

a. 1,59, 535 b. 6,90,500

e 5,90,704 d. 3,59,535
—_—
Compller CA Foundation Maths L LR and Stats |

Hq..

C.

“Find the ﬁture value of annuity of T 1,000

o #3491

L5 .:L'.:"I‘“L\uieﬁ! el oat i &
(15) The present value of an annuity zmmedzute is

CA. Pranav Popat

is greater than
annuity due
d.  The future val
equal to future va
annuity

¥2,5007i @ ory) year for 10 years to pay off
a loan=Wha e loan amount if interest rate
be @, annum compounded annually?
a. < 15,847.90 b. <13,040.27
Z14,674.21 d. ¥16,345.11

made annually for 7 year at interest rate of 14%
compounded annually (Given that
1.14" =2.5023)

0. 107307
b ¥536535
¢ = 28756

d. 2989234

% 800 is invested at the end of each month in an
account paying interest 5% per year
compounded monthly. What is the future value
of this annually after 10" payment?

a. 34,444 b. 28756

d. ?8,151.67

the same as

a. Annuity regular for (n - 1) year plus the

initial receipt in the beg. of the period.

Annuity regular for (n - 1) years

Annuity regular for (n + 1) years

d.  Annuity regular for (n + 1) years plus
the initial receipt in the beginning of the
period. :

o
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jears. What amount will she pay if s}
the whole amount in five equal

installments?
4 T25045.63 NS 26,0456

c 728,045.50 wnd. 1e of ]

(24)  Ankit invests @' ) at'the end of each qygy
receiving i pO 7% per annum for 5
What ar 1 be receive at the end of the
peri

a. 71,200.20 b. ¥71,104.83
c. 73,204.83 d. Noneof these

v G D P
)\ A company establishes a sinking fund to provids
. for the payment T 2,00,000 debt maturity in 2

: nded annually at 10%? (Given that P \ \ years contribution to the fund are to be made gf
Eq}:)) 15.9374298) N Y the end of every year. Find amount of each
= deposit of interest is 10% per annum?

4 231372687
b k41372687 o €359211 b 349211
" ' ’ e ¥3392.11 d. None of these

%3,53,726.87
PYQ

¥4,53,726.87 .
(26) How much amount is required to be mvested

every year so as to accumulate ¥ 5,00,000 at the

end of 12 years if interest is compounded |

be received after 10 years at 67

per annum
compounded ann hd annually at 10% (Where A (12, 0.1) =
a 159 Vﬂ 713,960 21.384284)
c.  ¥11)960 d.  ¥17,960 a. $23381.65 b. ¥24385.85
Note: Options are agpergingle cashflow so annuity ‘ g. Z26381.65 d. ¥28362.75

- word should not be there. - PYG§

) Jus (27) 10 years ago the earning per share (EPS) of
21) 2500 is paid every year for 10 years to pay off ABC Ltd. was 5 share. Its EPS for this yearis.
a loan. What is the loan amount if interest rate #*  Z22. Compute at what rat, EPS of the company.
be 14% per annum compounded annually? grow annually?
a. T15,841.90 b. 213,040.27 a. 15.97% b. 16.77%
c. 1467421 d. ¥14,010.90 c. 18.64% d. 14.79%

CA. Pranav Popat é MCQ Compiler CA Foundation Maths, LR andi
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9159.
b. ¥ 382,813
d. 357,769

540,526
7 643, 483

M. A invested % 10,000 every year for next 3
years at the interest rate of 8 percent per annum
compounded annually. What is future value of

the annuity?
a 32,644 b. ¥32,464
@ 734,264 d.  ¥36,442

# 5,000 is invested every month end in an
account paying interest @12% per annum
compounded monthly. What is the future value
of this annuity just after making 11" payment?
(Given that (1.01)" =1.1156 )

30)

a Z57,800 b. ¥56,100
c. Z56,800 d. ¥57,100 _
5 S  PYQDec22,
31) Sinking fund factor is the reciprocal of: 4
a. Present value interest factor of asingles,
cash flow \/~

b. Present value interest factor bfun‘f;\-
annuity " and

c. Future value interést fac‘tof of an
annuity :

d. Future value interest factor of a single
cash flow"

- v N PYQ Jun 23
(32) Suppose you havedecided to make a Systematic

Investment Plan(SIP) in a mutual fund with 3
1,00,000 every year from today for next 10
years where you get return at the rate of 10%
per annum compounded annually. What is the

future value  of this annuity? ~ Given
i = 2.59374
a. 31735114 b, ¥17,53411

d. 217,553,114

c. 317,35411

-

(34 A car is available for ¥ 4,9
or T 60,000 cash down®paye
three equal annual ipstalmen
interest  charge
compounded
in the i

2.32163)

e

lan is (Given P(2

b #146137
4 ¢158,040

1,28,040

\ every year starting from today for the next five
“years. Govinda deposits this amount in a bank
as and when he receives and gets 10% per
annum interest rate, compounded annually.
What is the present value of this annuity?
Given P(4,0.10) = 3.16987.

a. 22,80,493.5 b. ¥2,08493.5
clg 2,08,943.5 d. 32584935

BRI )

1 a 2 a 3 a
4 a 5. 6 a
7 a 8 b 9 ¢
10 b 11 a J2ah
13 a 14 d 15 a
16 b 17 a 18 ¢
19 a 20 b 21 b
22 a 23 a 24 b
25 b 26 a 27 a
28 b 29 b 30 a
3l e 32 a 3 c
34 ¢ 35 b

Govinda’s mother decides to gift him ¥ 50,000

| — /
tion Maths, LR and Sta / m ~
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Find the Present value of % 0,000 ‘
after 5 years, If the Inter b&9%. G |

ni)=A " (1.09)° =21.5386 (E
il o Rs6500
[(_1_“1_1] ¢ Rs.66001

A, )— T s
. Note: When fact in the questzon be
use that to get a ; 1MSwer.

A sinking fund is created redeeming debentures

3 - worth 5,00,000 at the end of 25 years. How (8)  Rs.500'is invested is invested at the end of eq
" much provision need to be made out of profits : month 18 an account paying interest 8% per

each year provided sinking fund investments year compounded monthly. The future value of
can earn at 4 % per annum nnuity after 10th payment is ‘
a. 12,006 7"" (1.08)"° =2.15893
b. 12,040 A a.  Rs.7243.31 b. Rs.7423.30
c 12,089 ), ¢ Rs3451.50 d. Rs.3541.50
d 12,035 i

Note: Error in MTP Que — it should be annually not
monthly then only we can get option as the ans.

Find the future value of annuity <

el ! e, — o (9)  The value of furmture depreczates by10%a
i o7u gecs enrially s i _ year, if the present value of the furniture inan

(. St office is ¥ 21870, calculate the value of furniture
a. 210730.71 b. 0735 8 ety

& 210734 d. < 10237 ST 2 330600 e

oy x P Nov 18 ' :
< 10,000 is ' year to off a loan, the loan ) < el d. - X 4]500 ;
amount if interest be 14% per annum : v ot MR
compounded annually is (Given P(10, 0.14) = (10)  Find the future value of an annuity of ¥500
5.21611) made annually for 7 years at interest rate of 14
4. 521611 b, %1917.13 % per annum [Given the (1.14) = 2.5023]
¢ 7521611 i 7191713 a. 536535 b, %5000
Note: Duration was not given in the question, we have £ ¥5325.65 d.  %6000.35

taken it as 10 from here (1.14) =2.5023

(5)  The present value of % 1 to be receive after 5 year
compounded annually at 11% interest is
a 0.713 b. 0811
G ()731 d. 0.658

- ———
m% MCQ Compiler CA Foundation Maths,
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Suppos yom'ﬁhudmdes to gift you Z 10,000
every year starting from today for the next five
years, you deposit this amount in a bank as and
when you receive and get 10% per annum
interest rate compounded annually. What is the
present value of this annuity? (P (4, 0.10) =
3.16987)
a. %41, 698.70 b. ¥45,698.70
c %41, 698.70 d. ¥41,698.70
Note: There is an error in options given in MTP as
tion c and d are same as a.

(13) Y bought Motor Bike Costing 80,000 by making
down payment of T 30000 and agreeing to make

annual payment for four years. How much Py,

would be each payment if the interest on unpaid\ \
amount be 14% compounded annually. [ quﬁ{i B

P (4,0.14) = 2.91371] ,
o ¥17160.25 b 17600 KD
6600.25 (

.. 215600.25 d 2

) |

(14) A machine costs Z 1,00, 000" " depyeciation
rate is 10% per annum. The'sgrap value of the
machine at the end of 5 years is®
a. 749490 e b 759049
c Z610 d. ¥51049

MTP May 19 Series Il

(15) X bought a T costing 25,000 making down
payment of % 5000 and agreeing to make equal
annual payment for four years. How much
would be each payment if the interest on unpaid
amount be 14% compounded annually? [P(4,
0.14) =2.91371]

a. Z6864.10 b, 26850.63
@, T 6859 d. 26871

LR and Stat

0.14)=5.21611
a.  226080.55 , !
o ¥26280.55 '080.5¢
Note: Option b is wrong as gegg in MYP, correct
answer is option a. \/ R

(18) Suppose ygum Wid decided gift to you i,.,T,
m'yye 4 mnmypg,,wm:
depbsit this amount in a bankas

yeags™¥gn
a * you receive and get 10% per annum
intere8compounded annually. What is the

present value of this annuity?
a.  Rs.42698.70 b. Rs.43698.70

(2 Rs. 45698.70 d. Rs.41698.70

, (19) 2 1000 is invested at the end of each month in

an account paying interest 6% per year
compounded monthly. What is the future value
of annuity after 10th payment? (Given that
(1.005)" =1.0511)
a. < 10220 b. 1022
c. 220000 d. 21020

(20)  Anil bought a motor cycle costing ¥ 1,30,000 by
making a down payment of ¥ 30,000 and
agreeing to make equal annual payment for five
years. How much would be each payment if the
interest on unpaid amount be 10% compounded
annually? [P (5,0.10) = 3.7908].
a. ¥ 28379.70 b. 2630070

c £ 26500.70 d. ¥26379.70

CA. Pranav Popat
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after 5 yea
compounded annuully

a. & 5500
b. <5600
c. Z 6000
d 26500

* (29) A man borrows 4000 faom a bank at 10%
d. ¥560.50 intercst. At the end of every ye,
rong, may be they have missed N il
ptions. Correct Ans is 7549.3 E e
ey 20 allments.
3)  The present value of an annuity of ¥ 80f0” 20 _ 359

e
(23)

L years at 5% p.a is [Given (1.05)*" =2. 65331 ; o
a. 2997 (appx.)  b. <900 '\:kc' ey

Z 1,000 d. none of these i, 72 0

(]

e f‘.» \r J
—~,’ i

&4 zz;:?:db;fg;; [Zo;;ls:;gz;i ;: (;,EOHOT(}Eash \F ’-f, (30) The future value of annuzty of T 1,000, made
yrs. at 5% p.a. C.L. The cash down prices ? = annually for 5 years at 'the interest of 14%
5 25 : compounded annually is
i U (Given (1.14)° =1.925410 )

a < 75,000 b.
L / a. 35610
’ c. 27637580 Moo b 6610
(25) A man purchased a house valued at < 3,00,000. 2 :2 2(0)
He paid ¥ 2,00,000 at the time of purchase and
agreed to pay the with interest at 12% .
o N0 o (31)  Future value of an ordinary annuity
half yearly % s. If the first instalment is
paid after si. s from the date of purchase ¢ Ani)=A (a+1)'-1
then the amount of each instalment is. ; i
a. 871845 b %8769.21 b n
RN 7/593.13 d._none of these An,i)=A [ L 1) o
M 1y 20 i .
AL
(26) A person invests % 500 at the end of each year N Alni)=A| ——"2_ I (1 + ’) i
with a bank which pays interest at 10% p.a C.1. ,
annually. The amount standing to his credit one d. (1+i)" 1]
Year after he has made his yearly investment for Ani)=A [ (Z : |
i(1+1

the 12% time is. [Given (1.1)" =3.1384]
o T11,761.36 b. <10,000
C < 12,000 d.  none of these

-

MCQ Compiler CA Foundation Maths, LR an
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Shoba borrows ¥ 50,00,000 to buy a house. If he
pays equal instalments for 20 years and 10%
interest on outstanding balance, what will be
the equal annual instalment? [Given :
P(20,0.10)=8.51356 ]
Z687298.4

¥5852984

b. 6852984
d. 5872984

a.
C

Note:

(34 How much money is to be invested every year so
to accumu{ate  3,00,000 at the end of 10 years
if interest is compounded annually at 10% [ A

N

alue of this annuity
payment (Given that (1
a. 2115600 ¢

¢ 156,800 s
isthcrgcm‘ ocal of

Sinking cho )

a. P @ ue interest factor of a single
N K LT

b. Qesent value interest factor ofan u
muity .

Future value interest factor of an

¥

.

(40)

(10,0.1) = 15.9374) -t
o 1882365 b, 18833.64 R

' ~ Fut - ;
a. < 18233;6,9 4 71682365 N y o ml; }jlri :}alue interest factor of a single

. MTP Jun23 Serjgs
(35) Find the present value of an ordinary mu‘z::%
8 quarterly payments of % 500 each, tlzet\‘rtq.f"é;iaﬁsf‘
interest being 8% p.a. compound giiiterly ~

3

0. 4275.00 b, 4725007
¢ 3662.50 4/ 326650
T Jun 23 Series T
A to be invested

How much amount is require

every year S0 as to nccumulate I 5,00,000 at the

end of 12 yearsif interest is compounded
annually aff10% (Where A (12,01)=

(36)

3.1384284)N, J

o 22338165 b, 724385.85

¢ %2638165 4 #28362.75
1 MTP Jun 23 Series T

20,000 every year in a deposit

from today for next 12 years.

Assuming that interest rate on this deposit is
ded annually. What

7% per annum compoun '
will be the future vale of this annuity? Given

that (1+0.07)" —2.25219150

(37) Raju invests 7
scheme starting

o 540,576 b 2382813
c. 7643,483 7357,769
_—
Ma Compiler CA Foundatio

n Maths, LR and Stats CA. Pranav Popat

i
(41)  Find the present value of an annuity which
pays % 200 at the end of each 3 months for 10
years assuming money to be worth 5%
converted quarterly?
T 3473.86
% 6265.38

b, ¥3108.60
d. None of these

a.
.
- ", o 3
42)  The amount of an annuity due consisting of 15
annual payments invested at 8% effective is &
10,000. Find the size of each payment.

a. I873.86 b. 108.60
c. 34101 d. None of these
BRSIS

@3)  The future value of an annuity of 5,000 is
ynade annually for 8 years at interest rate of
9% compounded annually. ( Given that
(1.09)} =1.99256)
a  ¥55142.22 b ¥65,14222
.~ %6553222 4. 25742622

A
®
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¢t depends

g (3)  What is the net present ofm‘
4 which would be valued akh at the ¢
; years? (Annual rate @iilicreaséd 5%,)
d a.  <1.81 lakl U™ %2.01 laky
| 24 ¢ (e} ¥2.00 @ d.  None g hese
‘ et
27 ¢ ‘
: 30 b Determ @ esent valueofperpetuw
a 33 d 50 enanoith @ rate of interest 12% . ;
c 36 a
¥ b 39 a a. NZ4500000 b ¥50,00000
40 c c
43 c

6" year onwards. What is the present valye of

42 (e3 ¥ 55,00,000 d. 260,00,000
o SRR T e
%‘.A ;s.i”.;.r.‘..n i 2L TN
ty, (5) A stock pays annually an amount of ¥ 10 om
st the perpetuity, if the rate of return is 20%?

a. 20.1 b. 19.1
C. 21.1 d 221
e ) LU
\ (6)  Assuming that the discount rate is 7% p.a, ho
i ) \ much would pay to receive & 20() growing at 5%
v annually for ever?
Y a. < 2,500 b.  ¥5,000
\pplication of Time Value and Other Concepts ¢ % 7,500 d. IQ'OOO
Past Year Questions (7)  Ifdiscount rate is 14% per annum, then how

much a company has to pay to receive 3 280

p it I{M 19 Iy { 0,
growing at 9% annually forever?
A person wants to lease out a machine costing ¥ a § 5600 Jfb 2800

5,00,000 for a 10 year period. It has fixed a rental
: Cs < 1,400 !
;f ¥51,272 per annum payabie annually starting e ;
om the end of first year. § ' S
first year. Suppose rate of interest (8)  If the nominal rate of growth is 17% and

is 10% per annum compounded annually on
which money can be invested, T, whom tyhis i o 4 for N

(€

agreement is favourable? Gross Domestic Product (GDP) amount at the
a.  Favour of Lessee present year then the projected real GDP after®
b. Favour of Lessor years is; |
&) Not for both a. 1.587 p b, 1.921P y
d. Can't be determined C 1.403 p d 251P

% CA. Pranav Popat

MC@ Compiler cA Foundation Maths, LR and$
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b.  45,00,000
d.  50,00,000

ot the operating profit of a manufacturer for five

" jears is given as:
. {He;r; Operating profit (in lakh ?)

1 90
2 100
3 106.4
i 107.14
5 120.24
6 157.34

Then the operating profit of Compound Annual
Growth Rate (CAGR) for year 6 with respect to
year 2 is given that:

. 9% b 12%

o 11% 4 13%

' e YO July21

II I ‘\ o

(1) If the cost of capxtal be 12% per annual, then the‘g

net present value (in nearest ) from the glvgn
cash flow is given as:
Years Operating profit (in thouszznds ?)
0 -100 5
1 560,
2 € 400
3 50
34185
24187
PYQ June 22

a. 31048 , b.
c. 21048 \ .

7~

(12) Assuming that the dzscount rate is 7% P.A. How

much would you pay to receive ¥ 200, growing at
5% annually for ever?

a. 32,500 b. ¥5,000
G 7,500 d. 10,000
: PYQ June 22

1) The CAGR of a initial value of a investment of ¥

15,000 and final value of ¥ 25,000 in 3 years is:
a  19% b. 18.56%
¢ 17.56% d 17%

D~

CA Foundation Maths, LR and Stats [BEZ Nl lIgLY s

(16) Mr

20.38%
16.36%

amount would you p eceivh 22,500
growing at 8%, er? g
a. b. ¥250000

d.  ¥2,00,000

8ot his  retirement  benefits
a ng to ¥ 50,00,000. He want to receive a
fixed monthly sum of amount for his rest of life,
starting after one month and thereafter he want
to pass on the same to future generation. He
expects to earn an interest of 9% compounded
annually. Determine how much perpetuity
amount he will receive every month?

a. <39,500 b. <38,500

c. <& 37 500 d. Z36,600

154 2 a S

4 b 5 a 6 d

7 a 8 a 9 d
10 b 17 e 12 d
13 b 14 q 15 a
16 ¢
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nsidering proposal of
ine either by making full

) by leasing it for four years
i of % 1250. Which course of

money at 1;% compounded annually? [P
| 40.14)=29137]

4. leasing is not preferable :
b.  leasing is preferable

c.  cannot determined g

d.  none of these \ vt

@®)

be
a. %2000
c.  Z3,000

¢ ezther by making full
payment o or by leasing it for 4 years at ©))
an annual rent of ¥ 1250, Which course of action

is preferable? if the company can borrow money
at 14 % per annum?

[ Given: (1.14)* = 1.6870 ]
4. Leasing preferable

b.  Leasing is not preferable (10)
@, Can't say
d. None of these

g ] meg is prefer et
& Cannot be determined
4. None of these aboy

A machine can b rchaséht for 7 ¢
Machine will con 2,000 p
the next five @ ur'ne borrow

10% pe
should be

hould not be purchased
Can't say about purchase

A %1000 bond paying annual dividends gt 8.5

will be redeemed at par at the end of 10 years,

Find the purchase price of this bond if the

investor wishes a yield rate of 8%

a. Z907.135 b. ¥1033.54

E T945.67 d. VNron of these
M’

Nominal Rate of Return =

a. Real Rate of Return — Inflation
b Real Rate of Return + Inflation '
G Real Rate of Return / Inflation
d Real Rate of Return x Inflation

Net Present value > 0, then
a, Accept the Proposal

b. Reject the proposal
& Not Feasible
d None of the above

Nominal Rate of Return =

@ Real Rate of Return — Inflation
b Real Rate of Return + Inflation
e Inflation -Real Rate of return
d None of the above

[MCQ Compiler c4 Foundation Maths, LR
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(13) Find CAGR, if the operay;
manufacturer for five yeq

*

ng profit oa

1S is Qiven as

Yr. 1 2 3 4 5 6
oP 90 100 | 106.4 107.14 120.24 | 157.35
g 9% b, 12%
@ 11% d. 13%

(14)  The nominal rate of growth is 17% and inflatio

.

(15)

(16)

is 9% for the five years. Let P be the Gross—@?f\f'*‘;
Domestic Product (GDP) amount at tlzé'}j?gsgiiff;~
year then the projected real GDP after 6 vears is
a.  1.587P b, 1921P-

. 1.403 P ds 251P

N Mrpoctaa
A person desires to create a ﬁmd to be invested
at 10% CI per anuuym to provide for a prize of ¥
300 every year. Using Vo= a/l find V and V will
be '

a. 32,600 © b.
c. 3,000 d.

<2,500

none of these
- MTP June 22

Determine the present value of perpetuity of

50,000 per month at the rate interest 12% per

annum is

a. ¥ 45,00,000 b. ¥50,00,000

g ¥ 55,00,000 d. %60,00,000

(19

MTP Oct_'%; O
N

20

A machingwith

10,000 7 vthier machine with usefu

5 yearaco 8000. The first machine saves ]
1 xpenses of ¥ 1900 annually and the 5
seconeone saves labour expenses of ¥ 2200 ‘5
annually. Determine the preferred course of '
action. Assume cost of borrowing as 10%
compounded per annum. - i

a. I*'machine should be purchased

b 2" machine should be purchased
c. Information is not sufficient
d.  None of these
. '
10 years ago the earning per share (EPS) of ABC

Ltd. was ¥ 5 share its EPS for this year is T 22.
Compute at what rate, EPS of the company grow
annually? ; :

a. 15.97% b.
e 18.64% d.

16.77%
14.79%

A company is considering proposal of
purchasing a machine full payment of ¥ 4000 or
by leasing it for 4 years at an annual rate of T
1250. Which course of action is preferable if the
company can borrow money at 14%

compounded annually?
a.  Purchasing

(& Both are same

b. Leasing
d.  None of these
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(6

@

(5)

(6)

€@ Compiler CA Foundation Maths, LR and Stats [ RLCLEIR L)L
e

and city B. The number of ways in which a

person can travel from city A to city B and
return by different flight is:
a b. 95
c 80 d. 78
PYQ July 21

Apersoncangofromplace ‘A’to ‘B'by 11
different modes of transport but is allowed to
return to "A” by any mode other than the one

earlier. The number of different ways in which N\

the entire journey can be completed is: g

o 110 10 . N

C. 9° d 10° ;Q}’z_‘
22

If a man travels from place A to, Bm‘[ﬂ'?zmys
then by how many ways canfhe Pme “back by
another train? i

a. 94 b. 170

e 90 4 99
PYQ June 22

n!  @m-1)_h . .,

LETaie, e ST

a. 4 b. 5

c 6 do 7
PYQ June 19

Which of the following is a correct statement.

o SN
2 x

X =

X =
=

X X
N

¥ - PYQJan.21
@ ﬂmmﬁmﬂlghfswmtmgbetmaty,q

P N

(9  Eight chairs are numbered
women and three men

> allowing one chair
choose the chairs
4 and then
remaining.
arran

a If"ps = 2
a. n=5 b. n=3
g : n=9 d n=8

\ PYQ Dec. 21

, (11) If "p, =12, then the value of n is

b. 3
d. 6 N
PYQ June 22
(12) 8 people are seated in a row in a meeting among
them the president and vice president are to be
¥ seated always in the center. What is the

a. 2
G 4

arrangement?
a. 712! b. 612!
@& 6! d 1!

PYQNov.19
(13) How many numbers can be formed with the help
0f2,3,4,5, 6,1 which are not divisible by 5,
5 given that it is a five-digit no. and digits are not

repeating?
a. 600 b. 400
c. 1200 d. 1400
PYQ Jan. 21

(14) How many four-digit odd numbers can be
Sformed with digits 0, 1, 2, 3, 4, 7 and 8?
* a4 150 b. 300
c. 120 d. 210

-
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How many differ; oups of 3 people cap
formed from a of 5people?

a. )
C. 1

‘ : PYO Dec. 2 (26) 'n@md ‘n’ corresponding keys are
ber of four-letter words can be formed available, but the actual combination is ot

letters of the word DECTIONARY is %\ known. The maximum number of trials that g

o 5040 b. 720 : needed to assigns the keys to the correspondipg
e W d. 30240 . ocks is:
Mﬁ SRR PY) Dec, 2 Q{\ > . (e, Bl
(19)  The number of words that can be formed usi \ %

the letters of the “PETROL” such that the
words do not have “P" in the first positi

g(k-z) % Yk

o 720 N : : PYQ Dec.
¢ 600 i 5 27)  Six boys and five 8irls are to be seated fora
-, - Dec. 21 photograph in a row such that 10 two girls gif
GO The number bfdl}j%rent waysythe letters of the together and no two boys sit together. Find the
word “DETAIL” can be arrangbd in such a way number of ways in which this can be done,
that the vowels cq Yy only the odd position . 74,200 b. 96,900
is c. 45990 d. 86,400
a3 ; b. 36 PYQ Dec, ;
c ?g d 60 (28)  The number of ways 4 boys and 3 Qirls can be
k., PYQ June 22 seated in a row so thay is:
@D If four words gre taken with o withothm]eaning * a1 thez ure;;l;emute )
Jrom the word LOGARITH A g1y ¢ 144 A
Tepetition. Hog Many words wjl] pe formed?
a. 5040 b. 2520 29 K - PYQ De
¢ 120 d. 403 0w many - filglt odd numbers can be formed
. using the digits 5,6, 7 g g if the digits can be
22) The number of ways 5 .boys and 5 gf:?;(gafu;y 4 2 s
seated at g royng table, $0 1o tpp . aren e a. 55 b. 75
adjacent i 4 ¢ 65 d. 85
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/€ arran;
ther?

b 1440
d. 4320

/s come toge

1 a 2 @ : 3 a
£ ¢ 5 b 6 a
7 8 d 9
MG 11 ¢ 2.5
13 a 14 b il
16 b 17 b 18 a
ORNC 20 b 21 a
22 b 23 a 24 a
PORNC 26 b 2754
28 ¢ 29 b 30 b
31 d

Permutations
Mock Test Paper Ques

(1)  Find the value of n if (n+1

S
%

QY

a. 6
C. 7
MTP May 19
(@) IfP =336 gidC = 56, then and r will be
Y. O ML
g (7, g = 4. none of these
MTP Nov 18
@)  Inalawn different waYs can four persons stand
in a line for a group photograph
a. 24 b. 16
¢ 8 d. 62
B : B MTP May 19
) P = 720 and "C = 120 then value of ris
a. 4 D
c 3 d. 6
—
MCa Compiler CA Foundd

o Maths, LR a1 St

(7) I "P,=20"P,then the
a. -2
(& -2 and 7 both
Note: Given expression is ineaxrect, co
be "P,=20"P, :

T [T O
A
@)NEP R
a. b 2 5
c 4 217

Al

(9)s How many SLx-dzgzt ieléphane numbers can be

formed by using 10 distinct digits
%\&z 10° b 6"

d. wCs

D

(10) The Sum of all the 4 digits numbers that can be
formed with the digits 3,4,551s

% o 18887 b 33333
e 38887 d. 56661 :

(11) Find the number of even numbersﬁ greater than
100 that can be formed with the digits 0,1,2,3?

% a 10 b. 15
e, . w2l d. none of these

MTP Dec 22 Series I, PYC 16
(12) How many numbers can be formed with the help
of2,3, 45,61 which is not divisible by 5,
given that it is a five-digit number and digits
are ot repeating?
a. 1200
@ 600

b. 400
d. 1400

(13) If two letters are taken at random from the word
HOME, what is the Probability that none of zl%
letters would be vowels? b

o 16 b gk W
o .8 4 J‘ﬁ |
1 .",J l,u‘ :'

te: P'rom Probability Chapter

No
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arranged is
b 40319
d. none of these
fﬂ;zf i

ways can be letters of the word

il MTP March 21
(18)  In how many ways can the letters of the word

'Nov 20

ot
. : b.

c 72 d.  Non
Note: Correct word shoul be BRA

24) In how mahy zbays c lette?s of the ,

//DIRECTOR 4 b o

5 vowels are neud . Y%
a 180 b 18000
(& 18 d.  none of these

MTP De ‘
H ny words can be formed with th, lette
of the'word 'ORIENTAL’ So that A and E

always occupy odd places:
a. 540 b. 8460
c. 8640 d. 8450

(25)

Ty

FAILURE be arranged so that the consonants \ 3,‘4% MTP Dec 22 - g,
occupy only odd positions? . 0(26)  In how many ways can a party of 4 men
i 5727}/ Y b 476 : - women be seated at a circulgy table, so that ng
:‘ 376 d. 276 ‘ two women are adjacent? Y
: ' b Now 21 a. 164 b. 174
(19 The number of words that ca ed ot of G 1dd d. 154 k
the letters of the word “A ‘ ‘ MTP May
vowels occupy even places is (27)  The number of ways in which 8 examination
25 " 36 b, papers be arranged so that the best and worst
. 574 d 754 papers never come together
gl MTP Nov 21 a  8l-2x7! b. 81-71
20) A box cont@v caps, 2 purple caps and 4 C. 8! d 7! 3
orange caps. many ways they can be MTP May 2

arranged so that the caps of the same coloyr
come together. (Assume a1} caps of same colour

are not identical)
a, 1724 G 1728
B Y7737 d. 1764
) MTP March 22
1) How many different words ¢y, be formed with
the letters of the worq “LIBERTY”
4. 4050 b. 5040
G 5400 d. 4500

CA. PranaVPopat

Mco Compiler cx Foundation Maths, LR a

(28) 5 persons are sitting in a round table in such
way that Tallest Person is always on the right-

side of the shortest person; the number of such
arrangements is
a. 6

C. 24

b. 8
d.  none of these ‘
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(30) If 12 school teams are partzczpatmg ina q";z
contest, then the number of ways the first,
second and third positions may be won is

a. 1,230 b. 1,320
& u 3,2:10 ' d.  none of these
R, % B MIP Oct 21

(31) A questzon paper contains 6 questions, each
having an alternative. The number of ways an

S examiner can answer one or more questions is

a. 720 b. 728

o 729 d.  none of these

MTP Jun 23 - Series 1

The number of ways of 4 boys and 3 girls are to

be seated for a photograph in a row

alternatively.

a. 24 b.

c. 144

32)

164
d. +336
MTP Jun 23 — é‘mﬁn
The number of 3-digit odd numbers can be w,
formed using the digits 5,6,7,8,9. Ifrep ti pn is

33)

allowed? ,
ak i 156 be 75 i
c 95 d. 45

MTP Jiin 23 - Seties IT

(34) How many numbesf 3 digits can be made by
using digits 3,5, 6, 7:and"8 no. digit being
repeated. N
a. 120 N v b. 60
e; 100 d.  None of these

MTP Jun 23 — Series IT

(35) In how many ways of the word

“MATHEMATICS" be arranged so that the
vowels always occur together?

a. 112 b (81x41)=(2))’
c 121=(21) d. None of these

EE——— i
.. ~4 Esundation Maths, LR and Stats [[ il Popat

1

Combinations

Past Year Questions

A bag contains 4 .red,réwblulck a 2 wite’b“‘.‘.\

this bag so that they include at least one black

\In how many ways 3 balls can be drawn from

@

@

b. 46
d. Noneo these

If"P. =720 and"C, =120, then r is
a. 3 b. 4
@& B d 6

If these are 40 guests in a party. If eaéﬁ guest
takes a shake hand with all the remaining
quests. Then the total number of hands shake is

840
1,600

a. 780 b.
1,560 d.

In how many ways can 4 people be Q;leéted a
random from 6 boys and 4 girls 1f there are to be

exactly 2 girls?
2: 90 b. 360
a2 d. 480

P,
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d 220
PYQJan. 21

Al o ﬂubmﬂtamusly
“hnfluubmxd: heads. In how many
”gdmmmkeplace’

) 7 boys and 4 girls from which a team of 5ist

e mw{\

be selected, each team should have atleas
girl is:

a. 429 b. 4

4 419 1

| PYQ May 15

(10) lf"'"C ="C, +me,.ﬁn

998
C 1,000
L T ‘ ’ PYQ June 19
@ e - d x#4 than the value of
7C =
a. 20 b. 21
‘ () d 23
£ PYQ Jan, 21
(12) §E+2°C , + ’C,,=
# & *C, b. ""'C,,
! o d g

s b. 3 17
ot § % 15 \ -f*

(18)

(19)

iere are 20 points in a plane area. How
triangles can be formed by these points
points are collinear?
a. 550 b. 560
C. 1130 d. 1140

¥ (]

If"P =3024 and "C =126, then find n ang
o 94 b. 10,3
¢ 12,4 d. 11,4

A committee of 3 women and 4 men is fo

formed out of 8 women and 7 men. Mrs,

refuses to serve in a committee in which M
Yash is a member, The nyumber of
committees can be:

a. 1530 b. 1500

(i) 1520 d. 1540

@ MCQ Compiler ca Foundation Maths, LR an
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of ound ‘will qualgfj/ ‘s

‘ em

 play against each other andfzrhen twon:ol;
teams will go to final, where they play the best of
three matches. How much minimum number of

matches in the next world cup will be? "
a. 54 Py P
C. 38; d 43 TR ,‘:. -
w- L Answer Key : 0) aC,+ e
1 a 20 3 4 > o0
4 a 5 a 5 " 3
7 b 8 d 9 4 G
e 11 b 2 b - MIPNov
13 b 14 ¢ 15 a 8 In a ys 3 Prizes can be distributed
16 ¢ 17 ¢ 18 a am students equally
19 d 20 b a. b. 45
c 60 d. 120

. ue is incomplete in MTP — refer MTP May 18
\ *";{@imilar complete question

Combinations e

Tl ] "9 5Cl+5C2+5C3+5C4+5C5isequal to
Mock Test Paper Questions - o~ L 30 e

MEP Mdy 18 6 a82 d 35

(1)  In how many ways 3 prizes out of 5 can. be X MTP.
distributed amongst 3 brothers equull y (10) ¥C,+"° Gy thentr'is equal to
¥ a 10 b 45 e b 3
¢ 60 d. 120 c. 4 d. 5

MTP Nov 18 Note: Que mistake in this MTP refer MTP May 18
"'15Cr+3

‘“‘5h€5 ~top simultaneously que for similar complete que. 15C,,

@ A Company
promotes tl;rce of xg.a 8 department assistant i
mangers. Im}ww man y ways these promotions (1) The number ways it which 4 persons can_
can take place"’"‘“ occupy 9 vacant seats is
a. 336 b. 56 1. 6048 b. 3024
c. 38 d. 1680 e 1512 A d . 536 ot
ik MTP May 19 MTP] 1 b -
7 3 people can ve
= nC =56, thenn and r will be (12) How many dzﬂferent groups of
@ If'P =336and € = yh formed from 1 0P of 5 people ;
a (2 b & i g
d. None i 9 o -
C 7,4 p May 19 o 10 d. i ey
) ris :
@ =720 and "C = 120 then 115411”3 of

4

a
e 3
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sination paper consists of 12 questions
arts A and B. Part A contains

” ided 1mto two p
% 7 questions and Part B contains 5 questions. A

7 q '
" Landidate is required to attempt 8 questions
selecting at least 3 from each part, in how many
maximum ways can the candidate select the

quastians?

a8 b, 175

¢ 210 d. 420
MTP

(17) Find the number of combinations of the
the word COLLEGE taken four t :

s @ 18
(& 20‘
» MTP Apr 21

(18) The é;;}erhe Court Bench consists of 5 judges.

In how many wa ench can give a
majority decision?
@, 10 %6
¢ 15 Ny d. 16
MTP May 18

(19) There 12 qiteétibns to be answered to be Yes or
No. How Many ways this can be answered

a. 1021 b. 2048
c. 409 d.  None of these
Al MTP May 18
Qe tC £ C,
- -1 b. 2
( 2" +1 d. None

CA. Pranav Popat

i 1Y g @m
7 questions and Part B con
candidate s required 0 att
selecting at least 3 from each part,
maximum ways can the

questions?
35

L
St

s to be answered in

@4), A polygon has 14 diagonals then the number of
sides are y
A b. 7 4
ﬁiﬁ!} * . 6 ‘
3 C 8 d 9 ‘ il

(25) There are 12 points in a plane which are
collinear no three points is a straight lie, numb
of triangular that can be formed with the

, . I
vertices as there points are: :

a. 216 b. 220

C. 110 d. 108
Note: Que is incomplete in MTP — there should be4
collinear points. k

The number of diagonals in a polygoniof 6 sides
o b. 8
c. 6 d. 12

(26)

The number of triangles that can be formed by
choosing the vertices from set of 12 points, sev
of which lie on the same straight line is
a. 185 b. 175
Cavills d. 105

27)

/ MCQ Compiler CA Faundat/o~
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face of a cube by

60 * Number ways of painting of q
6 colours is
() b. 6
. 24 - d. 20

- MIPApr 21

(1) Aboy has 3 library tzckets and 8 books of his
interest in the library of these 8, he does not

5 want to borrow mathematics part IT unless
mathematics part-1 is also borrowed? I how

many ways can he choose the three books to pe

borrowed?

a. 41 L Sk

@ 61 k- 7l
- mrP

(82) Xand Y stand in a line with 6 other peop

What is the probability that therﬁgéﬁ‘pav?ons
*  between them?

a. 1/5 b“%@ /6

¢ 17 d 13

Note: Que from Probabilit
%TP Dec 22 — Series I

(33) The numbenﬁ)ays ‘of painting the faces of a
cube by 6 diﬁgg@%olors is
A 3() b. 36
C. 24 d. 1
Note: Repeat MTP Mar 22
MTP June 2023 Series I
(34) If there are 30 points in a plane of which 5
points are lies on the same line. Then the
number of triangles can be formed?

a. 650 b. 580
C 4050 d. 4060
——

CA. Pranav Popat

MUndaﬂon Maths, LR and Stats
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(10) The 20" term of arithmetic pf

6t term is 38 and 10 terfh 196
a. 118
C 178

d 1

The number of terms of the series:5+7 +
must be taken so that the sum may b

() Insert two arithmetic means between 68 and
260.

a. 132,196 b. 130,194

C. 70, 258 d. Noneof these %

@)  Ifthe p* term of an A.P. is ‘g’ and the

is ‘p’, then its ™ term is
D T b.
c. 3

(13)  If the sum of ‘n’ terms of an AP (Arithmetic
Progression) is 2n°, the fifth term is ___
* a4 20 b. 50
¢ 18 d. 125

V=01

o)

(5)  The sum of the series - 8, - 6, 4,.......... n

forms s 50. The number ofterm A (14)  The sum of first n terms an AP is 3n* +5n. The
11 12 series is:
0.  814,20,2,.. b 8 22,42,68.
L =z [18 (6 22,68, 114, ... d. 8, 14, 28 458
for which the terms 7K + 3, 4K — : i
5 2K+ 10 are in AP, is (15)  The n™ term of the series 9,7,5,.... and
a. 13 b -13 15,12,9,.... are same. Find the n™ term?
¢ 23 d -23 * a7 b 8
B0 ¢ 9 d. 10
(7)  Ifthe ratio of sum of n terms of two APs is (n + 30 B I PYQ Y y 18, P! :
B 1):(n—1), then the ratio of their m" terms is: (16) A person pays % 975 in monthly installments, '
a. (m+1):2m each installment is less than former by &5. The
b. (m+1):(m-1) amount of 1¢ installment is ¥ 100. In what time
@ (2m—1):(m+1) will the entire amount be paid?
4. m:(m—1) a. 26 months b. 15months
| Note: Extra Lengthy Solution. G Both (a) & (b)  d. 18 months

e y
' Compiler CA Foundation Maths, LR and Stats
L
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16 17 18

Arithmetic Progression Ap

Mock Test Paper Questio;:s

(1) If8thterm of an AP is 15, the Sum of the 15 its
term is
a. 25 . 0
& 225 A\ d. 22512
E \ ) MTP May 18

@  For what value of x; the sequence x+1, 3x, 4x+2

arein AP?
a. 8 b. 2
G 4 d 5§
MTP Nov 18
B) The nth element of the series 1,3,5,7, ......1s
a. 2 b. 2n-1
c 2n+1 d. none of these

ﬂ

: 0.@

B The first term of an A.P. is 100 and the sum of
whose first 6 terms is 5 times the sum of the

T 3 X Shext 6 terms, then the c.d. is —
d a

-10 b. 10

G 5 d. none of these

) The sum of n terms ofan A.P. is 3n’ +n; then
its p'* term is
a. 6P+2 b. 6P-2
c. 6P-1 d.  none of these
Note: Given ans in MTP (c) is incorrect. Correct is (b).

‘(10)_ -If three AM's between 3 and 11, they are

a. 4,6,8

b 3. 5,7

c. 579

d 11/2, 15/2, 19/2
AR R €

(11)  The first and the last term ofan AP are —4 and
146. The sum of the terms is 7171. The number

of terms is
a. 101 b. 100
e 99 d.  none of these

- i
(o Wo oLl AL 8| MCQ Compiler CA Foundation Maths, LR and Stats
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23) "H of an AP is 3
its egimon difference is 6, then ifs te
Y a2 20 b. 50 2. 8 b. 2

Z 18 25 C 4 d 1
%equirement should be to find first term by
i1

1s incomplete.

(16)  The ratio of sum of first n natural numbers to
that of sum of cubes of first n natural numbers

is Sum lying from 100 to 300 which is divisible

=, 3:16 b. n(m+1)/ ‘ 4and5is

c 2/ n(n+1) i a. 2000 b. 2100 ’
c. 2200 d. 2300

(17)  The sum of progression (a+b), a, lat) == LR
. Sonrits (25)  Sum of x terms of two AP’s are in the ratio
| ’ g[za+(n—1)b] 4 n[2a+(3—n)b] & f3x+5).-(5x+3) then ratio of their 10 temn
is
a. 31:49 b. 30:49
S G 28:49 ~d. None of these
SEtTE” « N L
’ (26) In AP I=qand T =p then T, =2
series whose nth term is | —
erm is (5+2 a. 0 b. -(p+q)
105 b 115 : - i

125 dEN185

(27)  If20 AMs. are inserted between 3 and 51 the

19)  The first and fifth term of an A.p, of 40 terms sums of these 20 AM.s i
Msis

are -29 and -15 respectively, Find the sum of all

positive terms of this A.P a. 540 b. 1080
a. 1605 b 1705 ¢ 270 d.  None of these
¢ 1805 d. none of these
%

ihip//e'r CA Foundation Maths, LR and Stats CA. Pranav Popat
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(6)

TSR AR A
2 060 S0 60 oo

their product 27,000 are:
a. 10, 30, 90 b. 90,30, 10
- ; Both (a) & (b) d. 10,20,30

Geometric Progression (8 Inageometric progression that 3+ and 6" terms
are respectively 1 and -1/8. The term (a) and
Past Year Questions contmon ratio are respectively.
4 : , dand L e
. : Er— v o 2 4
o nd fpye D ol 7 B, B o ; ol A
The 3" term of a G.P, is 3 gz\nd the 6% term is c 4and71 d 4and%

i, then the 1+ term is % o Y ERD
1 (9)  If the sum and product of three numbers in G.P.

4 6 ) 1 are 7 and 8 respectively, then 4% term of the
3 X seriesis
d._ 2 a. 6 b. 4

(] 9 N\
S PYQ June 19 . 8 el
@) InaG.P. if the fourth term is ‘3’ then the _im&_

product of first seven terms is ] (10)  The sum of series 7 + 14 + 21 + ... to 17t
a 3 b. 3 term is:
e 3 a. 1071 b. 971
| ¢ 1171 410Gl
B) Ify=1+x+x>+
a. y-1 b. y+1 (11)  The largest value of n for which
il ,
y Y Ly L) —<0.998 is

c y d y * 2 % 22 3 4

] y-1 a. 9 b. 6

y G 7 d 8

——
(I WL LAl MCQ Compiler CA Foundation Maths, LR and Stats
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i, respectively, then:
b pt=gr
d. pgr+pg+1=0

S a0 a o
|, o o

14

Geometric Progression
Mock Test Paper Quesiions

v,

For what n@, e number —72 X o
arein G.P.?
a. +1 b. 3

C. +2

d. None

2)  Find the three numbers in G.P, whose sum is 19

and product is 216.
a  9640r469 b 9630r369
€ 9310r139 d 93 -1or-139

@)  The nth term of the sequence -1,2, - 4, 8,.is
*‘1 a (-2 b. 2
e 7 d.  None of these

PMC‘WM Maths, LR and Stats / CA. Pranav Popat

(5)  The sum of the infinite series T+

+....:n-'1s
e 1 b3
o 2/3 2 one of t}

Find the sum to nte s of he series :
THTTHTT7+... o .. toyn terms:

a. 7 AL
9 9

(6)

bn (

n
-10)+—
: 9

7

& WL qggr-10)-22
81 9

7 (10" ~10)+ 2
&t 8

e . o

' ()  Given: P(7,k)=60P (7, k-3). Then:

a. K=9 b. K=8
[ K=5 d. K=0
Note: From Chp5 PNC
] Ts' ‘

(8)  Ifthe pth term of a G.P. is x and the qth term is
v, then find the nth term:

2 r, ] R

C. 1 d. i ;»151
‘ks
[y""”’J

(9)  The sum of the series: 0.5+0.55+0.555%......orus
to n term is:

Note: Extra Lengthy Solution.

a. 5n 51 -
b. 51 5
—-—|1-(0.1)"
9 81[ )]
e 5n 5 .
?+E[1—(0.1) ]
d. None

Scanned with CamScanner




Ina G.P. If the third term of a GP is 2/ 3 gy
6th term is 2/ 81, then the first term is

Ina gometrzc p
12 and sixth ter
4

?Tind 11t term.

The sum of first eight terms of geometric
progression is five times the sum of the first four
terms. The common ratio is

(21)  Four Geg
a.

N =

10
13
16
19
22

;ii 0,324
, 24,108, 320
, 36, 108, 320

b
@
d 12, 36, 108, 324

SO [N O a QW

o v N

11
14
17
20

Pans b

AU ST N O QA SN

© o W

12
15
18
21
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I&(hc-—a)'(c+a—b)’(a+b—c) i
B b ¢

then a, b, c are in:

a. AP b. GP

g HP d. None of these

Note: HP is out of syllabus.

()  Ifthe AM and GM of two numbers is 6 5 and 6
the no.’s are:
a. 3and2

b. 9and4

81 and 16 : d. Non

C.

a. 20 b.
(e} 4

The sum of three numbers_ in a geomemc
progression is 28. When 792 and 1 are

X subtracted from st, second and the third
numbers r tigely, “then the resulting
numbers ar@l etic progression. What is

the sum o res of the original three

numbers?
a. 510 b. 456
C. 400 d. 336

Note: Extra lengthy solution.

a. 4n-1 b.
¢ W +n+1 d.

n+2n
w2

(1)

)

@

©)

©6)

Other Problems

Mock Test Paper Questions

Three numbers are in AP and their st
1,5, 15'are added to them re. ectz
form a G. P. The number
= 57,9
7,109,

C.

The sum of thre swiimbers in G.P. is 70, If
two extreifies byjantibtiplied each by 4 and
mean.by Sythe products are in AP. The nysy

10, 20,40
none of these

2,18, 40 b.
d.

fa b caremAPundx y,zarem GP, the en
the value of x(0=9). y (€=, z(a=b) g
a. 1 b. 0 ,

none of these 1

b’“—c andabcareznGPthex z

Ij‘ al/\ ’ ,:
are in:

a. AP b. G.P ,
d.  None of these

g, Both (a) and ( b)

[fl Jandzare the terms mGP thenthetf\
X+ ayryz, v+ 2 arein

a. AP b. GP )
@ HP d.  None of these

c'* then a, b, c are in GP then,

If g =pv =

Yy, zarein

a. AP b. GP
(64 HP d. AGP

J
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a.

1
4
7

g Find the sum ton terms of the series:
- 74+77+777+ to n terms: O

B~~~

Z(lom-l_lo)_ZT_'l_ Q
9 9

Z(lO"” —-10) +E
9 9
njl A;

7[1000" -1
Ble " 9

7 (10" e
81 9




st Year Questions

s of proper subset of the set (3, 4, 5,

IfA=(1,2,3,4,56,7)and B=(2,4,6, 8).
Cardinal number of A— B is:

a 4

C. 9

S
N W

B) IfA=(1,2,3,4,56,7,89
B=(1,3,4,5,7,8)
C=(2,6,8) then find (A - B)uC

9

4523

a.  (2,6) b. (2,68
€ 2,689 d.  None of these y
e PYQ June 19, >
(4)  The no. of subsets of the set (3, 4, 5) is: ~ )
a. 4 b. 8 & N\
A 15 d 32 _ \J™'
I Nog. 19 (12)
G) (A7) =2
a. A
¢ ATAT d Q”
Note: This que is from matrix (deleted topic).
PYQ Nov. 20 13)

6)

@)

Two ﬁnite—s . speetively have x and y
number of element$, The total numbper of
subsects of th 18 56 more than the total

number of subsets of the second, The value of x

and y respectively.

a.  6and3 b. 4and?

c.  2and4 d. 3and6

T PYQ Now. 20

The set of cubes of the natural number is;

a.  Anull set

b.  Afinite set

¢ Aninfinite set
d. Afinite set of three numbers

The number of integers from 1 to 100
neither divisible by 3 nor by 5 nor by 7 js
a. 67 b. 55 v
c. 45 33

Let U}J the universabsel, A ant B a,”‘
subsets of U. If n(l) =650, m(A) = 310 4
n(Ar B)=950nd p(BN=190, then n(An|

is equal to nd'B are the complement o .
and B @ y): ;
0 b. 200

a.
e 00 d. 245 :
; , PYQ Now 20, PYQ

Two finite sets have x and y number of

\ elements. The total number of subsets of first s
56 more than the total number of subsets of
second. The value of x and y is:

a. 6 and 3 b. 4and?2
c. 2 and 4 d. 3and4

Given A=(2,3),B=(4,5),C = (5,6)t
Ax(BNC) is

© {2565 b (5253)
. {(2,3 ),(5,5 )} d. None of these
If the universal set E = (x : x is a positive |

integer <25), A=(2,6,8, 14, 22),B=(4,810,
14)

(ANB)'=A'UB’

(ANB)'=A'nB’

(A'NB)=¢ ]
None of these

&0 =8
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B e st -
m""‘”ﬁ@".ﬂmm

s;“ﬁ?”"‘“ which buy A only i
b, 6300
5600

d. 600

@) T number of items in the set A is 4‘ in the |

et Bis 32; in the set Cis 50; in both A and B i
4, inboth Aand Cis 5; in both B and C 7 in al?
the sets 2. How many are in at least one if the
set?
a. 110 b. 65
c. 108 d. 84

. A - PYQ Dec. 21

Qut of a group of 20 teachers in a school, 10
teach Mathematics, 9 teach Physics and 7 teach
%  Chemistry. 4 teach Mathematics and Physics
but none teach both Mathematics and ‘
Chemistry. How many teach Chemistry and
Physics; how many teach only Physics? &
& 23 b. 3,2
¢ 4,6

d 64

3 PYQDEg2?"

0y IfA= (1,2,3/4,5,7,8,9) and B= (2,.4;*6;719’)‘:.%)1611
how many proper subset of L ¥

AnB
(A-B)U(B-A)
AxB
A'VB’ \ can be created?
xyeA,y eA’“ “'."'
Lfog(3) - gaf(-3}
2x }O?‘*’a’i‘é 3
flx)=qx" for flex <3
3x for x<1
: o i
3_2 ' PYQ Dec. 22
The nunlit;er of subsets of the set (0, 1 2,3) is:
a. 2 b. 4
e 3 4. 16

R

2)

@)

@)

20) IfA=(a,b,c),B=(bcd)

By el e ¥(

<a,e1,(m:§"

(A=B)x(BNC) is equal to:
a. {(apd)t(Ctd)} b.

¢ {(ca)dn)

Sets

Maock Test Paper Questions

The number of proper subsets of the set (3, 4, 5,

6,7} 1s
a. 32 by 43l
G, 30 A28

IfA and B are two sets A= {1, 5,3,4} and B =

{2,3 4} then (A-B)U(B-A)

a {1
b 28
e {1, 3}
4 o {12340
The numbef of subsets (1,2, 5}is
a. 3 b. 8
e 6 g ¢
e v ‘
o T .
JfA=L 1,2,34,56.7) and B=1{2,4,6 Cardinal
number of AV B
qa. 3 16
¢ D AR

Eca compiler €A Foundation ’Matﬁ.ns, 2
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a. {(2,5), (3 5)}
c. (43),(42)

b 128 (16) IfA=11,23), B={34haud CN4, 56),,
- d. Noneofthese Ax(BnC) = @ »

'B)" is equal to
(A'UB)’ b. A'NnB’
A'UB’ d. noneo these it

(1 7j  Two fiuite sets have m and n elements. The tg

(?) g;,‘d{;é.zqun;)} i and C { " q, number of subsets of first set is 56 more thay
e r a.  [(mn} b. {pq} the total number of subsets of the second set,
¢ {rs d. fo 1 ¢ The value of m and n are
;Nmm~“ 0. 63 b. 76
(10)  The set having no element is called ¢ 51 d. 87
MTP De

Singleton set (18)  The number of proper subset of the set {3 4

a.
b.  Null set ; 6,7}is
¢.  Finite set a. 32 b. 31
d.  Infinite set G 30 d 25

P March 21

N

(11) IfA={1,2,345) and ik {6, : g 9} then (19)  Let A be the set of squares of natural numbers
cardinal number B is: and let xe A,y e A, then
a. 20 % 5 * 4 x+yeA b x-yea
S v d 8 o' - % d. xyeA

' MIPMarch21 i

(12)  The number of subsets of the set A={1, 2, 3, 4, . AT
5,67 8 is MT
. o b 128 (20) A town has a total population of 50,000. Out of
e 256 d. None Of these it 28,000 read the newspaper X and 23, 000

= Y while 4,000 read both the papers. The nu

IfA=(1,234,5)B=(24) and C= 1 3 5) then of persons not reading X and Y both is
a. 2,000 b. 3,000

- (A-C)xBis

o (122),24),(42), 49), (52), 54) S 2000 d. o of i

b {(22),24),42),44),(52), (54) :
 122),(42),(4,4),4,5))

122),024),4,2),(44)

Scanned with CamScanner



hlmdstudcntswmwyww
can speak English and 40 can speak Hing; ang

a 100 b. 140
c 180

d. 60
- MTP Dec ; s 1T

@) Out of total 150 students, 45 passed in
Accounts, 30 in Economics and 50 in Maths, 30

s  inboth Accounts and Maths, 32 in both Maths
and Economics, 35 in both Accounts and
Economics, 25 students passed in all the three
subjects. Find the numbers who passed at least
in any one of the subjects:
e. 63 b. 53
C. 73 d.

none of these

L MTP June 2023

@) IfA=(01234,5) then the numbePBfsubets
of Ais ( y A -
a. 64 b_,.;"‘g? \
C. 61 L.{, 50

L MTP Jibe 2023 Series I

@5)  The number of prapeg subsets of ANB, A=
(1,2.3,4,5,7,8,3,10 M B= (2,46,7,9)
a. 8 $ b 15
- MTP June 2023 Series II
26) Out of 20 members in a famly, 11 like to take
tea and 14 Iike coffee. Assume that each one
likes at least one of the two drinks. Find how
many like both coffee and tea:
a 2 b. 3
& 4 d. 5

E

\
T

M

3)

@)

.....

QA =(1,2,3,4, ......,10) arelation on A,
™ R={(x.y)/x+y=10,xeA,yeA,ny}then

D%

domain of R™ is

a (1,2,3,4,5)
b.  (0,3,579
. (1,2,4,5,6,7)
d None of these

[ the set of all straight lines on a plane which

of the following is not “TRUE’?

a. Parallel to an equivalence relation

b. Perpendicular to is a symmetric relation

c Perpendicular to is an equivalence
relation

d. Parallel to a reflexive relation

Ifais related to b if and only if the di in
a and b is an even integer. This relation is

a.  Symmetric, reflexive but not transitive
b.  Symmetric, transitive but not reflexive
e Transitive, reflexive but not symmetric
d. Equivalence relation

_
2 MCQ Compiler CA Foundation Maths, LR and Stats
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@

IfR be a relation defined on the set of Nutuml
umbers as” xRy < (x—y) is divisible by 5”

vx,yeN then the relation R is

a Equivalence 4

b. Anti-symmetric = \

c Symmetric but not transitive

d. Symmetric but not reflexive p

o ¥ ]
10 2 a —
4 4 SNC
7 W
3)
Relations
Mock Test Paper Questions
; MTP May 18
() ima plane the Relation “is
@
a.  Reflexive b.  Symmetric
& Transitive ~d. None of these
.~ MTPNov18
2)  Onthe set of lines, being Perpendzcular isa (5)
relation,
- 4 Reflexive bra
o, Symmetric
¢ Trnsitive

4. None of these

(29%%/1 is(1,2,3,4)and Bis (1,4, 9, 16, 25)zsa

Functions

Past Year QllL’btl' ns

‘J"ﬂifp :

. Let Nebe the set of all T s bers; E be,
| numbers then the

function f is defined from set A to B where
f(x)=x* then the range of f is:

a. (1,234 b. (1,49, 16)
. (1,4,9,16,25) d. None of these
PYQ

Identify the function from the following:
a. {(1,1),1,2),(1,3)}

b {11,21),23) 1
¢ {(1,2)(2,2)(3,2),(4,2))
d. None of these

PYQ June 18
If f(x)=x" and g(x)=\/; then 4
0. g0fi3)=3 b. gof-3=9
¢ g0f(9)=3 d. gofi-9)=3

PYQ

IfA=(a,b,c,d); B=(p,q,r,s) whichof the
Sfollowing relation is a function from A to B

o R={(a,p)(bg)(cs))
b Ry ={(pa)b,r)(ds))
¢ Ry={bp)(cs) )
@ R ={(ap),r)(c.q)(ds))

y/
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‘nvme function: fof fy) = 3y is;

13y b. i3
a8 d 1/

© Letf:R= R be defined by

2x for x >3 b d
® fx)={x’for1<x<3 &
3x for x<1 §
The value of f(-1) + f(2) + f(4) is
w9 b R
e 5 d. 6 ’&) If f(x):N =R is a function defined as
PYQ July 2 (x)=4x+3, Yxe N, then f(x) is:
(10) The range of the function f defined by \ f s bﬂf g 1
f(x)=«/16 x*is ; % 4+—4- * 2
a. (-4,0) b. (-4, 4 ;? c ¥n8 d 3x+4
¢ [04] d. (9l N 4y . 4
| 7 BYQ July 21 Answer K
(11) Let A=R-(3)and B= R(T}Jﬁf’f(x)—)B 1 ¢ 2 b 3¢
x-2 4 a fi3 d 6 d
% deﬁnedbjf(x)———3. Whatt?thevalueof . 8 b 9 4
(1 \ 10 ¢ 11 ¢ 12 b
f (3)? | ¢ 13 ¢ 14 ¢ 15 4
(Q ' I 16 ¢

o 23 \L J b, 34
e, 1 ) d -1

| e PYQ July 21
(12) IfF(x)=x-1and g(x) = 12x+31, then
” [ fog(3)—gof (-3)]is ?

; a. 71 b, 61

§ ¢ 41 d 51
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(VI |

hen the value of)

b {149,16) (11)

16,25}  d. noneof these

b, -10
d.  None

)= x+3 and g(x) = x? , then fog(x)
2 +3 b x’tx+3 Note: Front
(x+3) d. Noneofthese

Ris the set of real numbers such that the

il (12) Let
(4) A functwn fix) is an even function, if 3 ﬁll‘lCi‘lOﬂ f:R—>R and g : R = R are defined by,
a - f(x) = fix)) b fi-x)=f(x) by flx) =x’ +3x+1 and g(x) = 2x-3. Find (jbg)
~d. None of these N 0. 4 +6x+1 b ¥ +6x+1

i “'ayIQSerzesIK % ¢ 4x'-6x+1 4 x'—6x+1
®) Find the fo g for the functions f (x) =X, g(hzu, . MTPAm

x+1 T 13 IFA={1234), B=(2468}, i) =2 f2)=4,
a.  X(x+1) b. ¥ ?\ ' f3)=6and f4)=8,and f: A — B then [ is:
R i« o {21),(42)(63) 64
@1 o~ 0019 b {(12),24),(36), (48))
- ( J then f) ¢ 114),22),6),48))
d none of these
b. z MTP Nov21
(14) Ifftx)= x*-1and 8(x) = 2x+3 then g of (3)
Note: From Ch 8 £ Calcr a 71 b. 61
d MTP Now 19 ¢ 41 d 19
@) If 7 (x) 37126 ﬂO)—O then ﬁnd f2). MTP Oct 21
(15)  Find g o ffor thefunctwns fx)=+x,
@ 127 d. none of these g(x)=2x"+1.
 ICAISM,MIPMay20 o axtsl e
8 —
@) Iff(x)=ﬁ and g(x)=x71,thengof(x)is e (2 +)Rx) 4 Jx
x-1 o 5%
G d. none of these
e
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21
(x~1)
x+1

R—Ris a function, defined by ﬂx) 2%
flx+y) is

19 Iffix)=x+2, g(x)=7* than gof(x)— -
BT 10 7 b. 7549
C.

fit none of these

R S MITD e 90
(20) LetRbea relatlon on N deﬁned by xX+2y=8.
The domain of R is:
a.  {2,4, 8
c. 12,46

range of the ation

{1,0)2,0)(3,0)(4,0)0,0)} is

a. {1,2,3,4,0) bo{o}

. {1,2,3,4} d. None of these
. AwswerKey

280

(21)

1 4 3 a
The domain of the function!f 4 b 51 d 6 ¢
7 8 Wb 8L
10 ¢ sl 128G
13 a 14 d 1y
16 b 17 a 18 b
19:%¢ 200%¢ 21 b
22 b 23 a 24 ¢
25 a 26 b
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